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CHEMISTRY
(P.G. DEGREE STANDARD)

In Bose-Einstein statistics, the particles are
Gurev-geevieaien Lerall aNeurhiger Ly giseTserTearg)

A)

s

©

)

(E)

Distinguishable and any number of particles may occupy a given
energy level

Caupubsssamipug LHNL  asFmer  gsasd  CeugmHTEITED
Qar@&sul L O LI LSms AsATOESQMD

Indistinguishable and any number of particles may occupy a given
energy level

Caupudsswrursg wLOHMIL  assoar  gsaser  Cougm@HTanTeb
QarHésuul L 2HDd WL s Bs&fTilssmmd

Distinguishable and any number of particles may occupy the same
energy level . ) .
Caunu@ssssmiqug LHNL ahsmar  gseaadr Ceuar@ramgid Gy
<Y HOO UL YsHTllésmd

Indistinguishable and any number of particles may occupy the
same energy level

CanudsswicuTss wHpb assoar gsasear Geamhuramgid Gy
< HOD LLSMS &S Tl&smDd

Answer not known

er @sfwaeildenew

Total no of dimensional space available in a molecule is
R posamde @més Caamgw apemwwner uflwrer GLib ————— UG

(A)
©
(E)

01 (B) 03

05 w06

Answer not known
e Asfweiidvena
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3.  The rotational partition function for a diatomic linear molecule is given
by the expression
e rram Crilw epasamblar spHuBEL B srious smd Cohob

1/2
@A) _ 1 ®) 4., {_WL} NzI2

Tror =1—e'h’KT h?/8ma?
2 x
M qmFZIKzT D) qmtzR.x .e
ch (ex —1)2

(E) Answer not known
cden Qsflwaldene

4.  In statistical thermodynamics, which are called as “Bosons”
(i) H,, D, and ®He
H,, Dy womw ° He
() H,y,D, and N,
Hy,Dy wpmip N,
(iii) N,,D, and * He
N,,D, wpmw * He
(iv) N,,2He and *He
N,,?He wpgw * He

yeareflwWwe  Qeutu  Quisselwudde  aomauQubord  “Curstarser” T

SN L&&LILIH S e er
(A) (1) only (B) () and (ii) only
(11) wr_Ew (1) wHmb (1) LI
m (11) and (iii) only (D) (iii) and (i) only
(11) wpmb (1ii) wr_ FHb (111) wHpmb (1) LLEb

(E) Answer not known
elen Qgfweldeme
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is known as Gibbs-Duhem equation
ereugy) &lev-1gW@mid SWweTUm(h @G0

A) nym+ngus+...nju;i=0

B) num+ngus+..nju;=1

©) nyduy+nydps+..n;du;=1
(ﬂr ndu +nygdpg+...njdu;=0

(E) Answer not known
en @sflweiidene

aP T,n]_, n2...nj

@ S | (B)

<« 7, D)

(E) Answer not known
e Gsflwaeildwere

o~

<ol
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7.  The chemical potential of a pure ideal gas depends on
@@ grw poedlwey euryeler GauHwmdmed cueTdrang ————— s (& @EWD

(A) T, P and number of components
T, P wppw sapseier aaralsoms
B) T,PandS
T, P wpmd S
) T and P only
T wpmd P wc@w
D) T,Pand H
T, P wpmgw H

- (E) Answer not known
clenL Qg flweledena

8.  Identify the allowed radiative transitions from the following
Epssam_euphle), g@iwdssiiul L sfielss @Lmhoh cuamamwds sarLbles

(A) Sl ‘—)Tl (B) S3 __)SO
& 5,58, (D) Ty —S,

(E) Answer not known
e Qzflweleren
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10.

The quantum yield for the given reactions are

(a) 2NH;—> N,+3H,

(b) CO+Cl, »COCl,

&G QasrRssiiulHerer clamarsEhsasmar GeaunamLd edlenarése
(a) 2NH;—>N,+3H,

(b) CO+Cl,—»>COCl,

(A) Both (a) and (b) are extremely high
(a) wpmid (b) GremgH@d s idsors GEHEED
'éBr (b) is extremely high but (a) is less than 1

(b)-6@ Vs a;ﬁ&mna;mm <emed  (a)- a;@ Qarepedl @mmmrra;mm
Bosew

(C) (a) is extremely high but (b) is less than 1
(a)-55 Vs Adsworsab, gamd (b)-&@ gaopeie  G@parseb
AlGLIGE

(D) Both (a) and (b) are less than 1
(a) wpgid (b) @ramypEw eaHHE We G@pans msEd

(E) Answer not known
e Qs flueiidene

For a photochemical combination of hydrogen and bromine, what would

be the quantum yield?
@@L e LoHHILD LGrmilen gefl Cauuud sowmasstar @GeumerLLd clamarésd
CTETRTGUTE @) (HHGLD ?

A) ¢21 B) ¢>1
€ ¢<1 (D) <1

(E) Answer not known
enL Qgflwaicene
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11. Sulphates of calcium, barium and strontium exhibit in the
presence of UV light
sreodlwuw, Cuflwb whmb v Crramdluw wHweapdear sOCUL P& LD agTé
sdlisaflan wenaflevauier s fiiubHsgeug

(A) Chemiluminescence (B) Fluorescence
Caud gaflitey 2 | Germeflitey

(C) Bioluminescence 6 Phosphorescence
2 WQgreflirey Hler@prafliey

(E) Answer not known
adlen Gz flwaeildena

12. The formula ' is used to calculate spin inultiplicity of a
molecule
GSHrsost LwuaTLRSE @M ossdldar sHEPHE UaTMLWE
sausSlLemb
@) 2(2S+1) w7 (25+1)
(C) 2(S+1) (D) 5(2S+1)

(E) Answer not known
clen Az MwaNdene

13. Collision theory is involved with

Gurge Carium HLer AgmiiyemLwg ———— eramiu@ib

(A) Kinetic energy (B) Potential energy
QWss O Hlevowrer <Hne

(C{ Threshold energy (D) Activation energy
QUL < LHDD Sleriiaym <4Hoed

(E) Answer not known
elen Gz fwedene
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14.

15.

Calculate the energy of activation (Ea.) for a reaction, whose rate is
expressed as k=A.e 2% /T . Given R = 2 cals mole-1 k-1,

@ deasstar Qsuoupsgb Heriey CQarer ypnows (E.) sarsdprsdr,
sisen aldgn k=A.e >0 k/T , R =2 cal moles! k-L.

(4{ 18 x 1072 cals (B) 1.08 x10°cals

(C) 1.35x10%cals (D) 18x107%3cals

(E) Answer not known
e QgMwelcrens

What is the unit of Arrhenius pre-exponential factor ‘A’
sirafeflwen wer-AG&ECaHD sryah A’-@en D@ eTeran?
(A) dm® mol2s71 (B) mol®.dmbs™
(C) mol.dm®s™! @rdm3 mol™ts7!

(E) Answer not known
er GsfMwaeildenaw
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16. Choose the correct statement about the limitation of collision theory
Gurge Gsmarensuier eupbysefld, Gearaumuaeuid erg sflwrer Heveum e
QareirL_gmged (ms @0

«

(B)
©
D)

(E)

Applies to simple gaseous reaction only

eraflw eumy Hlenaudled 2 crer Coud ellanen

Applies all type of reaction
roar auamswrear Coudellemans@ LweaTLmHLD

Applies reaction involving complex molecule

fesanar aposmmsd Lweatuhn Coudelmarser

Explain bond formation and bond cleavage involved in the reaction
Yepartiiy 2 (heundsd wHmib Wemeniy 2 aLgd updu.Caudeums

Answer not known
clen Qzflweidena

17. The units of K for third order reaction are
epempmbd awms almanda K ar sias

(A)

(©)
(E)

Chemistry

mol ' LS B) S
mol L1 87! ({mol'2 287!

Answer not known

edlen @Az MlweNdenew
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18. Half-life of a substance in a first order reaction is 15 minutes, then the
rate constant is

wsd aflens cleander @m Qumrmeflear ey <puer 156 L miser, igen
AewarGeus wrPledwirerg)

(h( 4.62%x1072 min! (B) 4.62x10%sec™?
(C) 7.7x103min~! (D) 2.7x102 min~!

(E) Answer not known
elen Qgflweildvena
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19. Match the appropriate units of the following rate constants of the

reactions
Mevamnler allflg wrhlsmer Qummsswrear Sw@Gsmars Qararh QUTHSSeYD :
1 1
(a) Half order 1. (dm3)§ mol 287!
SI®T Ulg
(b) % order 2 dm®mol 287!
3,
5 L2
(© 3 order 3. (dm3) 2mol2S™
5y
9 -
3 3
(d) Third order 4, (dm3)§mol 2871
ELPGTMITLD Lilg-

@ b @© @
A) 1 3 4
@) 3 1 2

3 1 4
M 2 3 1

(E) Answer not known
den Qs fwelcrene

DN DN
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20. Given AH=100kJ and AS =100JK ™' at 400 K, then AG will be.

21.

22.

400 K @@, AH=100kJ wpgib AS =100JK ! Qan@ésuucLréd, AG aerug
(A) 300kdJ B o0
& 60kJ (D) 140 kJ

(E) Answer not known
cllenL Qzflwaiidveney

While galvanizing Inn with Zinc, the Inn survives — why?
§ISsETEsgILaT @by Bres Csmie) QeauwbGurg @mwburearg Bearl prer
2 MLP&EDF). e ?
(A) because it is protected by a layer of hydrated oxide
gQarafiléd @& FCrHpLILLL sl BHESE aped LTESTESLLHEDS
(B) because it is unprotected by a layer of hydrated oxide
gQarafler @& BCrHOLILLL YWsmeh SBHES o LT ESTESILLND®m
(C) corrosion of Zn is unfavoured thermodynamically
Zn-en siflorand Qautiu Qusselwd fFHwuns stsswHDG
corrosion of Zn is favoured thermodynamically
Zn-en sfwrand Qeutiu Qussealwed fHwurs srgswrdpg
(E) Answer not known
cllenL Qgflweiidancy
In hydrocarbon — Oxygen Fuel cell the essential catalyst used is
wapl Gyr  sriuer - psAMenr  er@ummer s  LwaTUHSSLILHID
SSHwureuflu lenarysdwurerg
(A) Gold (B) Silver
SHIGLD Qeueerfl
»(cf Platinum (D) Palladium
Gemm_ig b LIGDGMIG UILD

(E) Answer not known ,
clenL Qgflweiidene
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23. Most of the important buffer solution usually consists of mixture of
QemmeumueTeuH B THS SHOEME Wp&Hwimer STBIGHED SDTF6)
vweruHEsLuBEHaTmg)

(A) Weak acid and their salts
flwb Gophs Sl LHHID ST 2 1L
(B) Weak base and their salts
Sflwb GonhS STTL WHNID D 6T 2 UL
(C) Strong acid and their salts
Sflwb siHswrear b WHMID Fem 2 UL
& Both (A) and (B)
(A) wppiw (B)
(E) Answer not known
cdlen @z flweiidencw

24. From the following, identify the one metal which is having more
passivity
Epsaramd o Corsmselld @mbg, Hs CQeuedp sSateww 2LW @
2 Cansgnsd samLhls

« Co (B) Mg

(© Ni (D) Mn

(E) Answer not known
edlen @z Mweidvenay -

25. The standard potential of a cell formed by any two electrodes
gCaeib @ Wenaanuksaladmbg 2 (Haumgh Cadealer Hlavowmar ,Hmed

(A)  Eien = Efiefe) — Eright) (ﬂf Ecell = Efright) — E{let)

(C) Ecell = E(()right) - EZleft) D) Ecell = Ezleft) - Ezright)

(E) Answer not known
cdlen Qs flwaelevaney

Chemistry 14



26.

217.

28.

In a Fuel Cell

arflQurper WD eTerLg)

(A) Electrical energy is converted to Chemical energy
Ber Hoed Ceoud g poens wrHplubHng

(B) Mechanical energy is converted to Electrical energy
Qupsly HPD et DTS WIHPULESHDS!

(C) Potential energy is converted to Mechanical energy
Herarwss Hpe Quby Hdoers wrHOLILESDS

(\Er Chemical energy is converted to Electrical energy
Caud < hme Wenr yHmens wrHPLLIGEDS

(E) Answer not known
er Qs fMweiidena

Corrosion is occur due to mixture of iron and

@@y wHDHID g Hwepden swamawred iy ghu@Spsg.
(A) Sulfur (B) Hydrogen

&HSHD QDL IFER6
(C) Nitrogen @7 Oxygen

nBLTEQ6n <& allegen

(E) Answer not known
e QgRweildene

The metal used as a coating on steel to prevent corrosion is
<ifltierus 5068 6@ g uiemsl uuau@ssuubn e Corsd

(A) Na (B) Ca
Cemgwid &SmO Wb

© K < 7n
QumiLrflwib &55BNSLD

(E) Answer not known
e Qgflweiidene
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29. Electrical conductance of an electrolyte depends upon
@@ Wearu@gefuler Wer &g Hmeir MW FMHG @) (HSE L.

(A) Concentration of electrolyte
Weru@aflullen Qedey

(B) The number of ions
Swaisafler eramanilsans

(C{ The number and mobility of ions
Sweallsafler eramanfléans wHmib Bsiey Causd

(D) Temperature of the electrolyte
Bleru@efluder Qeuriuflena

(E) Answer not known
cen GQsflwedenew

30. The addition of Ce** ions to Fe?* ions is Redox Titration the ratio of
Fe?*/Fe?" is
Ce*" ewaflamu Fe?* suwafs seorsiLear Cais@h grb umissd elemaruid
Fe?*/Fe* swefufer g eriiLig @mE@W
(ﬁr Increase
<Flaf&EEwn
(B) Decrease
&®DUD
(C) First increase then decrease
sl 2iflafs@n ey Gy
(D) No change
THS LIHDIPL FHULTF)

(E) Answer not known
eden_ GsfMwadene

Chemistry 16



31.

In Conductometric Titration the electrical conductance depends upon
sarL&QLTQwL N groumissd GCersemandd et s g Hpar  aog
&MibgleTeTg)

(A) Number of Ions (B) Mobility of Ions
swefsafen erameantsams Swallsaiien Qusssang
(Cr Both (A) and (B) (D) Size of the ion
(A) wpmd (B) swailsafler seteney

(E) Answer not known
e QgRlweildana
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32. Choose the right matches among the given equation :
AerhssuulHeter Foaur yharer Qurmsswrer Qsrimdomear Csib0sHSs)

T(PGIS
) [acid] [salt]
= T3, =pK log ——=
1 pH=pK, +log alt]’ pOH =pK, +log [base]
[éh.ﬂo.)m ] [guq]

pH=pK, +log[ ] ; pPOH =pK, +log[mm]

.. [salt] [salt]
= 1 pOH = pK, +log —=
(11) pH=pK, + €[] P pK,, +log [base]
Oy auq'
pH =pK, +log [[ ]] pOH =pK, +log [[Mm_]]
. [acid] [base]
H=pK, -log+———; pOH = pK,, —log:——
(1) pH=pK, -log Galt]’ © pK}, —log [alt]
H=pK, —logloo ). LoH = pK, ~1ogl™™]
p p 08 —7 [ ] » P phy, —log [auq]
. [sa lt] [base]
H=pK, -1 pOH = pK, -log
@v) p P, —l0g—= [ ] phy, — [salt]
pH=pK, -log [[ ]] pOH =pK, -log [FZ:]]
(A) (1) and (iv) are correct (B) (1) and (iii) are correct
(1) wopd (V) FALTaTEMe (@) whmid (1i1) sNwrereney
(C) (i) and (iv) are correct ffr) (11) and (iii) are correct
(11) wHmd (V) sflwrereneu (11) woyw (i11) sAwreTereu

(E) Answer not known
elen Qs fweNdane
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33. The concept of pH was introduced by

34.

35.

pH erénp smag wmpmed oidpsnd Qe Lg)?

(A) Arrhenius (B) Bronsted
<iiraf el wev CymemevL @t

(C) Lewis \ﬂrSorensen
auilen Cemyenge

(E) Answer not known
fen Qgflweidena

Mean ionic activity of a uni-bivalent electrolyte is given by
e wal-euaoar Wer ugeluler symefl swel Gsweour®

o« 1w ®) 28 m?
C) 4y, m D) 3y, m

(E) Answer not known
e Qgflwaicrens

The mathematical equation used to calculate the activity coefficient of a

strong electrolyte
em eadmoure Baugaller GQeudurmieL saéall vweaLESSUUED
satlgs Fwetur(

X logf, =-Azt |k B) logf; = Azu
(C) logf, =—Azlu® (D) logf, = Az

(E) Answer not known
e Qsfweiwene
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36. At 25° C, the dielectric constant ¢, for water is
25° C Qauviuflevaude ganatfer Warsmiy wrdled &,

cﬁf 78.54 (B) 77.54
(C) 76.54 (D) 75.54

(E) Answer not known
elenL Qg flweldene

37. The ionic strength I for a 0.1 M AlCl; will be
0.1 M AlCl; ér sywefl euelenwo (I)

A 0.2 ’ " (B 0.3

T 06 (D) 0.9

(E) Answer not known
elen Qs fwaeldere

38. Ionic strength is given by the reaction
Swafl eucllenwerw @GMés LweTUED FETLT()

1
A) wu=¢z} B) u= i 27

NGINE

1 1
ol u=2¥ct (D) p=3ctet

(E) Answer not known
eflen QsMweldene
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39. The statement, “Electrolyte is completely ionised but not completely
dissociated” is connected with the term

“Bearugall wuewvwrs Swellurs wrdlel L g, wamd weawwns Wfams

peL_Qupelldama” e snphy ————— 2 L e QFmiiyeLwg)
(A) Wien effect (B) Ionic atmosphere
cHlwen elleneray Swafllser GbdmsEh Have
¢ Tonic doublets (D) Asymmetric effect
Sweaisaflen @ menwssenenio gw&syHo edeneray

(E) Answer not known
- ellenL Qgflweldena

40. In the experimental verification of Debye-Huckel limiting law equation ;
what are the variables plotted against each other?
R Cu-amssd ey sLLpons swearurh Csrgeer sfumiuGer  eemray,
asQandlir wrlsEnsdaLuiier QméeEELD ?

(A) plot of —logy+ Vs I? (B) plot of logy+ Vs I?
auegey —logyt Vs I2 cauenye| logyx Vs I2

1 1

«e{ plot of —logy+ Vs I2 D) plot of logy+ Vs I2
awengay —logy+ Vs I2 awenyay logy + Vs I2

(E) Answer not known
v Qgflweiidwene
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41. Nylon (6.6) is prepared from
apaorer (6.6) adé Qmbs swurflssiiuHansg)
Adipic acid + Hexamethylene diamine
295 sl + CansevrCwsHeSar enLoiSen

(B) Ethylene glycol + Dimethyl terephthalide
agdlallen Sanersmed + e QusHd QLirsrGel

(C) Formaldehyde + Urea
umioreliyens® + wyflwm

(D) Ethylene glycol + Ethylene diisocyanide
agslelen fenersmed + erseSen e mGarewGarn_

(E) Answer not known
elen Az flweidene

42. What is the hybridization of Nitrogen and Phosphorus respectively in

Phosphazene?
urebuggalidy o etaT epLggen WwHmID urevLFallar @aEsELILTESD  WapCW
GTEOTEHT ?
(A) sp and sp? \6‘5@2 and sp3
Sp wHHIDL SP2 sp? whHmib sp3
(C) sp3and sp? (D) sp? and sp
sp3 whmb sp? sp? wpmb Sp

(E) Answer not known
e AzsMweildene
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43.

44.

45.

Which of the following anion is commonly present in Beryl and
Pyroxene?
Querred wHMD WCTTEelleier @Lb@upmieter Qurgieurer erdlir Sjweafl eremer ?

@) Siof o ((510,), 1%
© [(SiOy.T ®) [sioz]

(E) Answer not known
Mer GsfMweiidena

Inorganic benzene is
sl Quenfen eremug)

(A) Phosphazenes (B) Boronic acid

umevLI&eT GunCrrefls e
g Borazine (D) Carborane
Guny&er sTiGurCrer

(E) Answer not known
fen Qgflweildena

Low density polyethylene films are mainly used to
GODHS SILisd 2w urdagdder uLosHler Waélu Lwer
NGNS
(A) Manufacture of toys
Aavemum_ (U Qur@pLser 2 Husd Asweug)

Packing frozen food
2 phs Hevaule 2 arer 2 arees QUTSE mauliLg

(C) Manufacture of household articles
&S 2uCunst QumrpLsemer 2 Husd Qelieug
(D) High tensile strength requirement
<285 Queilmss sarmveau gmus Coudgw @Lrisalld Lwe(eug)

(E) Answer not known
Men Qgflwaeildene
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46. 1s the other name of Borozine.
ererug) GurCrréefen wmG@LIWIT <y@LW.

‘ Borozole (B) Borokene
CunGrrGeggmed CunGrr&en

(C) Borozyne (D) Borokyte
CunGrmenggebr CunGrrensL_

(E) Answer not known
aflen Qg fNwelldenew

47. Silicone grease used in aeroplanes parts do not freeze at a low

temperature, and do not melt at — . )
dloramsafler  ursmsellr  LwELESSLLEL ANCsTET WG  GDODHS

Qautiuflene ) 2 EDWITLOEILD, WHMILD
Qeutiuflenaouller 2 HETLOYID G)(HEGL.

(A) -10°C, 200°C (B) —20°C, 200°C
(C) —30°C, 200°C @—40°C, 200°C

(E) Answer not known
elen @Az flwelldane

48. The chemical formula for Ziegler-Natta catalyst is

gsart B eflevanysfufer Couulwd eumitium() <GLD.
(4) Mg(CyH;); TiCl, (B) Ti(CyHj;)3 MgCl,
(C) Mg(CyHy), TiCl, @ ALC,H,), TiCl,

(E) Answer not known
eflen QgMweldenea
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49. The total number of unpaired electrons present in Oxy-myoglobin
< el -wCurEGermen Qupmeter @enawt Cagm erasLrranseflan aramailsms

@) 4 w5 o
€ 2 D) 1

(E) Answer not known
er @z fweiidvenaw

50. The name of the peak obtained by absorbance of light at 450 nm in
cytochrome P450 is called as

sl CLrs@rmbd P450-ar 450 nm geflenw 2 Hi@hsad C%urrgu HenL_&@LDd a&&g@m
Quuwir eremer ?

(A) Base peak (B) Molecular Ion peak

SlgluenL. 2 &0 LPOSIAM WG 2 FFLD
& Soret peak (D) Q bands

FMyL_ 2 &80 Q uleL
(E) Answer not known

Mev Qzflwelldvenaw

51. Porphyrin have substituents at the pyrrole position.

SeGuminQ febr @uGrre Haowle wrBhameas deramHareng.
(A) sixth (B) seventh

2DTEF) | Tpreug)
& cighth (D) nineth

eTLLmeug) QRETUSTIG)

(E) Answer not known
e Qgflweildwene

25 Chemistry
[Turn over



52. How many heme groups bound to protein chains of Hemoglobin?
abCGurgCarmlafler  yrgs  suddseEpdar  aismar @b (@SS

YeedsLiuL_HeTere ?
(A) 02 rﬁf 04
(C) 06 (D) 08

(E) Answer not known
e Qg Mweldrena

53. -1s an example of triply bridging complex. _
‘ TATUZ) PETD QERTLILITEE; DHMSN6YHE 2 SMTETLOMGLD.

Fe 3(CO)q ‘ (B) CO4(CO)y,
@f [Rh (CO),] (D) [In5(CO),]

(E) Answer not known
cdlen Qsflwedrenew

54. In Zeise’s salt, the Central Platinum(II) ion undergoes
hybridisation.

gev 2 ufer AL LGEHWOD eetar Germigerd(Il) waf
solbarnongaler @ameanmbme@Lw.

(A) sp? (B) sp3d
(©) spd? ) dsp?

(E) Answer not known
eflen QgMweledrene
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55. Choose the correct matches of the following :
Qeeupeuaraupie sflwrear Qurpsssmss CaibOgHESD :

1.  Oxidation of alkenes - [PtCl3(CoHy)l™
SvSansaflen s&AnCGarhmd - [PtCl3(CoHy)l™
2. Hydroformylation -  CO4(CO)g
@ant CyrsuriemwCohmd - CO,(CO)g
3.  Polymerisation of alkene - TiCl, + Al,Etg
. s@Sawaier uougumss® - TiCl, + ALEtg
4.  Hydrogenation " — PdCl, +CuCl,
@anl_jnGarhmid - PdCl, + CuCl,
(A) 1 and 4 are correct (B) 2 and 4 are correct
1 wpmid 4 & 2 g 4 &
(C) 1,2 and 4 are correct \éﬂr 1, 2 and 3 are correct
1, 2 whgid 4 &f 1, 2 wpgib 3 &

(E) Answer not known
lenL Qgflwalerens
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56. Which among the following are more stable?
YereumeuaTeupmiet HlenaLiy geand HFsD 2 eTaTeney eTaney ?

0 [Feln® - CsHs),
) [Coln®-CyH; )]
(i) [Ni (n® - C4H ),

& ) only ®B) @), (i)
(@) wr @b @), (i)

©) @), @) (i1 (D) (11) and (ii1)
), Gi) (i) | (i) wppid (iii)

(E) Answer not known
cllenL QzfMweleorena

57. 1s the Chemical formula of Wilkinson catalyst.
losdlensen allenanusHufen Coud eumiiium(@ <G LD.

@  [Rufp(CeH;), L C1,] ®) [Rn{P(CeH;),},Cl]
« [Rh{P(C,HS),}, -Cl] (D) [Rh{P(CeH,), ), -ClL,

(E) Answer not known
cen Qsflweldene
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58. Complexes will obey 18 electron rule if they have A, values.

18 oL gmen edfevwis Qerupmid semenreys Carwmsaten Ag wdiy

[AGEIGTE
(A) Small @ Large
GODHEUNTS SHEHWONS
(C) Zero ' (D) Not related to
sweTTs (LLguwild) @ramgh@w Qsriupn Hlepeuded
(E) Answer not known

e Qgflwuaicrene

59.. How many number of M-M. bonds are present in Co,(Co), and

[(115 -C, )Mo (Co), ] ,respectively?

Co,(Co),y wpmid [(115—CP)MO(CO)3]2-G’0 wpopCu asgmar M-M Geerriiy

2 qTeng) ?
(A) 4and?2 ' (B) 3and 1

4 wHmd 2 3 wpmid 1
(C) 4andl wﬁ and 1

4 wHmid 1 5 wHmid 1

(E) Answer not known
er Gsflweidvena

60. One of the following compounds is dissimilar with other three. Identify

the compound.
ECp Qarpésuul(erer Gaiomsallar @6am WLHWL WLOD epedled Q) mBHSI
CaupuGEng. SeuHans serrLDs.

V(Co)g (B) Mo(Co)g
€ W(Co), D) RU(Co)s

(E) Answer not known
eenL Qzflwalcrend
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61. In R,S-system the correct priority of groups attached to the chiral

carbon atom.
R oppn S @iewiGé e@simd sriuea igneler @earssiul L Qgn@dsafen
sflwurer (pergiflennent 6T(Pg)s.

«S Br>Cl>CH,>H (B) Cl>CH,>H>Br
() Cl>Br>CH3>H (D) CH;>Br>Cl>H

(E) Answer not known
cllen @sflweidene

62. Choose the correct answer.
Wereumeuameupiled sflwren eflewamw Cgib08HESeW.
(1) Carbene adds to ketene to give cyclopropanone
sridgiLer & ger Coig@nd Qurg essGearm 4CTMUICUGaTer @aLs8pg).
(11) Carbene adds to alkene to give cyclopropanes
sridgiL e gddeasmar  Csiggh  Qurps  @ssGarmyCrmiCuie

S sflenng).
\K{ (1) true and (ii) false (B) (1) false and (i) true
() eflwreng wpmid (1i) geupreng (1) seupneng wHmib (ii) sMwreng
(C) (@) true and (i1) true (D) (@) false and (ii) false

(1) sflwreng wpmb (ii) surerg () seupreng wpmid (ii) seuprears

(E) Answer not known
elen Qs flweldena

Chemistry 30



63. Assign R,S notation for the following

H COOH

Wereum Geiwgdar R,S gHulreoLrs sms.
B

H COOH
« R  ® s

© R,S ] ) D) S,R

(E) Answer not known
e Qgflwueildene
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64.

The name of

1] ClI,

-6t QUi

Cll,

1 - ClI

(A) 3-Methylhexa-2E,4Z-diene
3-QusHdansavr-2E,4Z—am e

'6{ 3-Methylhexa-2Z,4Z-diene

3-QusHo@ansavr-27Z,4Z—am e
(C) 3-Methylhexa-2E,4E-diene

3-QusHaQanseavr-2E,4 E-amuar
(D) 3-methylhexa-2Z,4E-diene

3-QusHo@ansavr-2Z,4 E-e e

(E) Answer not known
clenL QzNwelerene
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65. Among the given dimethylcyclohexanes the correct order of stability is
Qar@&suiulperer  eLGwsHdcuamanutansCevengatics  Hlanewlissementoudlesr
sflwrer euflens

(A) trans—1,2(e,e)>cis—1,3(e,e)>cis—1,2(e,a) >cis—11,3(a,a)
gyranev—1,2 (e,e) > Aav—1,3(e,e) > Hav—1,2(e,a) > Aav—1,3(a,a)

(B) cis—1,3(a,a)>cis—1,2(e,a)>cis—1,3(e,e) > trans—1,2(e,e)
Aav—1,3(a,a)>Aav—1,2(e,a) > Aav—1,3 (e, e) > yyreraiv—1,2(e,e)

{ cis—1,3(e,e)>trans—1,2(e,e)>cis-1,2  (e,a)>cis-1,3(a,a)
Aav—1,3(e,e) > yyrarav—1,2(e,e) > Heov—1,2(e,a) > Hev—1,3(a,a)

(D) trans-1,2(e,e)>cis—1,2(e,a)>cis—1,3(e,e) > cis—1,3(a,a)
gmerav=1,2(e,e) > flav—1,2(e,a) > Hev—1,3 (e, e) > Hev—1,3(a,a)’

(E) Answer not known
Men Qzflweildene
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66. The reaction given below is an example of

o1l 0
—_—
/
OH O
Epeumid ellenar e @ 2 STyeamTLd
OH 0
X 190°C /u\/\/\(
_—
.
. O] l . . () .
{ [3,3] sigmatropic shift (B) [2,3] sigmatropic shift

[3,3] Qson \Slerearam psiiay [2,3] &si0on leangm psiia]

(D) Cationic rearrangement

(C) Oxidation reaction
Cpirowefl @Lwrhmbd

W55 RCarhn elene

(E) Answer not known
cllenL QgfMweNerene
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67. The suitable reagent for the following conversion is

ph OH ph

>
ph ph

C\\\‘\\

Geeumd wIHPSHHE Qurmsswrear efeariGummeT erg) ?
ph OH ph

. %
ph ph 011

(A) Dilute KMnO, . (B) 0504/NaHSO,
(C) Iaq.CH,COOH 5 Peracid/Hydrolysis

I, /8rseps CH;COOH Quirdl/BrrHuEGsse
(E) Answer not known

er Qzflweiidenew
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68. Write the product of the following reaction?

hv
———

phcoph

Qemeumid elenarulen eflaner@Qummeaner 6r(Lg)s.

hv
—_—

phcoph

) . (B)-B:DO

< }on (D) BZ
;l)h

(E) Answer not known
afen Qgfweldena
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69. Major product formed in the following reaction is

O

/u\/\/\ hv
AN _>

Weeupd levanuien 2 (heur@d psdlwu elleper@ummeT wing ?
O

NN
AN —
» 77 oA

- OH

73 )(L | (D)O/

(E) Answer not known
aflen @z flweildene
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70. Which of the following statement is correct according to FMO and
Huckel-mo6bius methods?

Sparamid spdler FMO whmbd anssd-Cumiwen wepliuyg sfuraremes aee?

«

(B)

©

D)

(E)

Chemistry

Thermally [4+2] cyclo additions and photochemically [2+2] eyclo
additions are allowed

Qautiuedwd  [4+2] wHnL  @allCeudufwed [2+2] aweanusGsiny
Si@iwdssiubhSHng

Photochemically [4 +2] and thermally [2+ 2] are allowed
galCGauduue [4+2] whmb Gaurueiwud [2+2] S@HSSLILHEDS!.

Thermally [4 + 2] and photochemically [2+ 2] are forbidden

. Qautiuefue [4+2] wHpb galGaudb@ue [2+2] S@wdssiiuLaldame

Both [4+2] and [2+ 2] are allowed thermally
Qautiuefwe [4+ 2] LHMILD [2+2] s@iwdssiiuGEng

Answer not known
cllen QgRweldene
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71. Predict the Major product of the following reaction

0]
/IK/\N/(”* 1(0°(‘

+ ph
( I,

Qereupd eflearullen p&Hw sﬁlmeun@mm safl$05 s

0 .
)K/\ /( 11 l(()° C
+ ph
' - (u,i |
0 Ol
Cll,
ph Ay
OH QO

6 ij/\/u\ ph (D) ph

(E) Answer not known
e Qzflwelcrene
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72. Complete the reaction :

O (i) tert-butyllithium
N Cl > 9
(ii) (CII,,S0,

Mlenamenws Yiisd Qaiiweybd :

O (1) tert- Y erL_eelsHuwid
N Cl
(i) (CIL,SO,

, QO] . . o
< N7 ®B) Q (.,I

v
N

D)

(E) Answer not known
elen @Az flwedene
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73.

Identify the reactants which can be formylated by Gatterman — Koch
reaction

CalLiwer — Garé elewerwumed umiewed oo Qeuwtiur. @ugibd elereru(
QummL_semers semLHluia|b.

(1) Phenol
Sesrmed
(11) Nitrobenzene
apL CrrQuender
(111) Toluene
QuLrgyeiei
(iv) Benzene
Quen&en
(A) (1) and (iv) . (B) (1) and (ii1)
@) wpmio (1v) (1) whpid (111)
(©) (), (ii) and (iv) *6) (iii) and (iv)
(@), (i1) wpmd (1v) (ii1) wpmio (1v)

(E) Answer not known
Men Qgflweiidena
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74. Expected product from the below reaction is
s allemanie daLs@n eNear@urmer
OH

Y

. 44}
+ er W ?7 + HBr

OT1

OH
« | ®) @
Br

o1l : | O
© Br D)

Br

Br Br

(E) Answer not known
den Gsfweldenew

75. Diazo coupling is possible, when the aromatic ring have the following
group
Gereu@md Asrgdeowu @k ACMGLLYSE amerwub Qubdmudear eLwGsr
el ellener penLQumid

(A) -NO; (B) - Cl
w’ -OH (D) - CN

(E) Answer not known
clen Qs Mwelerenew
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76.

Match List I (Reactive intermediate) with List II (Electronic
configuration and valence state) and select the correct answer using the
code given below :

vl I g (Amear @aLflawns Ceiwb) urgued II eoscrer siewiiy wHmib
@eandper Hlew) o Lar Qurpsd Qsr@sstucBerer Gduibhsmer LweTLHSS
gflurenr dlevLemw CaibOsH&s.

List I List II
utique I utgue II
(a) Carbene 1. Octet and trivalent
&mirLSer GTEHTO HMID epellenardlmen
(b) Carbocation 2. Sextet and bivalent
sriuer G swef sOoD wHmID Gwellaardma
(¢) Free radical 3. Septet and trivalent
smituen gafl 2 MLy GT(WLd WHMID epeilanardme
(d) Carbanium 4. Sextet and trivalent
smituen i wefl O WwHDID epelarerdmer

@ ® (@ (@
A 2 4 1 3
2 4 3 1
© 4 3 2 1
M 3 2 1 4

(E) Answer not known
er Gz flweildenew
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77. When a halogenonitrobenzene is heated with potassium cyanide at
150 °C which of the following product is formed?

CanwgGammenpl Crr—Quenémar, QumiLriluw  @sumahrear  150°C &
Mevansd@ 2 L upSHD Cung, SpeuHeuareupmer erhg elaar@QummET SanL&@Lb ?

Br Br
« @/ N ®)
| CN
Br
- Br
CN
©) (D)
CN NO,

(E) Answer not known
ellen QgMweildene
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78.

79.

Choose the correct answer for the following reaction order
Qereumb elenaner euflansssrer sflurer uflwes CaibosH&s6 .

Eto™ + CH; — CH(CHj3)- Br — EtoH + CH, = CH - CHg + Br®

(A) First
(y)g,@.)rr@_lg]

@Bf Second
@ rerTL_meug)

(C) Zero
gD

(D) Depending upon the condition of the reaction
Mevaruien seanwenw QUTNISSS

(E) Answer not known
ev Az flweiidvenaw

The reaction of optically active 2-Octyl brosylate in 75% aq. dioxane
gives.

geflllliwd Qswe Apyperw 2-ysomrd UGGl 75% Bin oL s&Caaier
Aeariyfbg QarGruer wreme ?

Inverted 2-octanol

2-YEL @D SDMOELD
(B) 2-octanol with retention of configuration

2- &L @TAIET LiDaliqeld §&6& MeuSSHe
(C) Racemic mixture of 2-octanol

soe&p LHMIb Upageld sésmessi—sfl swb (Araflils) - 2-péLarmd
(D) 2-octylazide

2-YSML D e (h

(E) Answer not known
Mer Qg flweiidvenen
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80. The Least stable carbanion is
Bl&s @mnhs Hleoliys serewuew sTirGuernwume

© ©
(A) CH, B) CCl,

o o
(C) CeHsCH, \-@r (CH3),C

(E) Answer not known
aflen Qgfwaildena
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81.

Assess the following:

Qeteupeuaraupeny HUITH QFiis:

[A] :

[A] :

[B] :

[B] :

A)

(B)

©)

The furnace used in TGA is designed in order to produce a linear
heating rate over the whole working temperature by wire or
ribbon Nichrome.

TGA - @é vweau@ssLLED 2moulmer wweagwrar Ceaume QAFwub
Qawu HleoowWe em Crllwd Qauuu fssms eukGusHHETS &b
wHYID B agel HECrmieamd eugeumwssILL HidTarg.

The recording system in TGA is only time based potentiometric
strip chart recorder.

TGA - @& ufley Qs SF&EUQUITH SO ST SigluemLulderer
Qumi_Lemg Gur QuiMé-av M smil erenm @Gy Hs&LQAUTD. -

Both [A] and [B] are false

[A] whmb [B] @dw @rarGCn seuy)
Both [A] and [B] are true

[A] wpmibd [B] dw @raGCuw &

[A] is false but [B] is true
A sauy wpgiw [B] sfwreng

[
& [A] is true but [B] is false

[A] sfwreng wHmbd [B] seum

(E) Answer not known

Mer GsMwelwena
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82. In a Polarographic analysis of copper ion, the plot of diffusion current
against concentration for the same yield a straight line. Two equal

volume of copper ion solutions (a) concentration of 6.87x10™* M and
(b) unknown shown its corresponding diffusion currents of 73.1 y#A and
59.3 wA respectively. The concentration of the unknown copper sample

18
smlly sweafllen werareurss euangey Wepuld HaLss ureud WaGarm L sms
Qsdeystsdlrmear eueyuL i CriCamieL Qsrhdss. Qm sw QAsmEH@erer

My swal semrsd (=) Qsdley 6.87x107* M 2 epLwg wHHD (<) Cedey
Asflungg; Gariiyerw ujged WaGam Lsms s Qupns wanGu
73.1 HA womib 59.3 UA . wips Asllung smily sersder Qsdey

(A) -8.47x107*M - (B)- 5.56x107° M
(©) 8.47x1073 M ) 556x10~% M

(E) Answer not known
clenL Qzflweledrena

83. Atomic Absorption spectroscopy (AAS) is used for
g2 ST emewrenaufueder Liwer

(A) Only metal complexes
2 Gaons emaney

(B) Only organic compounds
&M swene

M Only metals and metalloids

2 Cong whmib o Cers Curelser

(D) Only inert gases
LOHS6U ML &8 6T

(E) Answer not known
elen AsflweNdene
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84.

- 85.

Find the end product for the decomposition of the metal complex.
[Co(NH3 )6] Clg in Thermo Gravimetric Analysis (TGA).

Qeutiueliw oL eTeu

uGuUTLe  ppowrs 2 Cors  soeu

[CO(NH3 )6] Cl3 AavgauerdCung AerLs@nb learelanar Qummer wg) ?

(A) NH,OH
(C) liq.NHj,

(E) Answer not known
elen Gz Mwaeidena

Match the following:
Qumrmsss
List I
uguwed I
(a) TGA
TGA
(b) AAS
AAS

(c) Amperometry
WerGarmi_L_ jerellwich

(d) Coulometry
Caudl ey L b

@ ) (© @
A 1 2 4 3
@ 4 3 1 2
© 2 4 3 1

& 4+ 3 2 1

(E) Answer not known
e Qsflwaelcrenaw

vsf NH,Cl

(D) CoCl,

List IT

utigwe II

Electricity
WerGarmi_Ltb

Diffusion Current
Nyeued WerGerm_Ltb
Emission Spectroscopy
2 10pay Flpwrene
Change in Weight

erenL_Lommium(p
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86. Thermogravimetric Analysis is concerned with the measurement of
Qauliu e Setaudls UGUUTLeY ——————  SasHGHSD 2 L6
QgmiryenL_wig.

(A) Change of temperature
Qeutiufleneouflerr wrmUTL g.eeard
(B) Heat absorbed or evolved
Qeuliugeng 2 MErasd Adwg 2 Opsmes
M Change in weight
L il wrnubheumss
(D) Rate of change of weight
e wIHPSHen clmaGoussmss

(E) - Answer not known
cllenL Qg Mweledrena

87. In controlled potential coulometry, how many electrons are involved in
the reduction of picric acid to triaminophenol
sLbhuubssuulL Weararpss Geaudleargnr L uguumiele WsMs bwsms
LoptlCarmiammanss @Gmpriudd assman aTa&LTreanseT mHLL () drerer ?
@) 6 o 18
© 12 (D) 2

(E) Answer not known
e Qzfweleene

88. The detectable concentration range of amperometric titration method is
WanGarmL ierellwed Qadley sramed weapule s&TLPws sagw Qsdey QpHEsD

@’ 0.1t00.000,001 M (B) 0.1 to 0.0001 M
(©) 0.1 to0.00001 M D) 0.1 to 0.001 M

(E) Answer not known
eflen QgfMwelédena
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89. The measured concentration range in amperometric titration is
BenCarmi L jerellwed grbumisader epobd sardutiubbd Gsbelear erey
GTGUGUGTEUNS @) (H&(&LD.

& 0.1t00.0001 M (B) 0.1 t0 0.001 M
0.1 gpse 0.0001 M 0.1 pse 0.001 M
(C) 0.1t00.01M D) >1M
0.1 ypse 0.01 M >1M

(E) Answer not known
efen Qg Mweiicbenen

90. HPLC is more advantageous than GLC. Why?
HPLC GLC aw L oifls parewsd Qsram g sryetid

(A) Applicable to stable materials
Blevoowrer QuIBLEEHEE CUTHHEID
(Bf Applicable to unstable materials
Blevawpy QuIBLEEHEE QUTBHSID
(C) Applicable to volatile substance
<elwr@d QUL &EH&E QummBHSID
(D) Applicable to gaseous substances
aumy QUL &Eh&E QummHSID
(E) Answer not known
e Gsfweiidena
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91. The symbol V2 is called as
GASH V2 —— arang wi@wsstu@dps

(A) Vector operator
Semslien Quisd

(B) Momentum operator
2 % @wss

(C) Linear operator

_ Cpflwe @uisd

Laplacian operator
CaouGadlwer Quiss

(E) Answer not known
clenL Qzflwalcrene
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92.

93.

Identify the eluting power of solvents in the decreasing order
sequutarseiear @uOummedr Hpmears samsdle CAamam® eupdler @G®pub
aflengmws sarLhs.

)
&

©
D)

(E)

H,0>C,H,OH>C,H;0C,H; >CH3;COCHj
H,0 > C,H;OH > CH;COCH; > C,H;0C,Hj
H,0 > C,H;0C,H; > C,H;OH > CH3COCH;
H,0>CH3COCH; >C,H;0C,H; >C,H;OH

Answer not known
eenL Qgflwueildene

The reason for adding NaCl when an organic compound is extracted from
an aq.solution by ether is

B swrsde @b @ sfiws CGsiogms ANFAs0sEw Gurg NaCl

A)
&

©
D)

(E)

- Geissliu(hleugen SmyenTd

NaCl increases the solubility of organic substance in water
sfws Geiwsder Bl samrfpmear ifsfsdng

NaCl decreases the solubility of organic substance in water
sfwg Gsiwsder B samyuyb Hnwear Gon&Sng)

NaCl removes the impurities present in the mixture
so@euulé 2 drer rssmeT HéGEDS)

NaCl decreases value of K, distribution coefficient

uRSLH Gamssder o GoDESDS

Answer not known

e Qzflwelcorene
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94. A xylene chromatogram was obtained and recorded. The recorder speed
was 3.68 cm/min. The retention time of xylene was 54.0 cm. Calculate
the un corrected retention time i+ minutes

@, esder safl ear@m HpuGflens ufey Qewtiu@deamg. HHed udey Qewiyb
Geusid 3.68 cm/min w5 2 dreng), msdlafer sssmauiy 54.0 cm erammred g6
SmszruLng suEb Crrsms s 9y &seyb.

€« 14.7min (B) 15.0 min

(C) 13.0 min (D) 14. 2 min

(E) Answer not known
- eflen Qgflweldene

95. From a series of replicate analysis data one is found to be abnormal, the
rule required to decide whether to reject the data or to retain it is

@M QsrLi u@lumiey sreysaflel(mhg gCsaub @m BT FTEMTERTLONGIS TS
Yohsnd, Sibs sy Himsflss siowng sesmausgsdsnda Camawnar o

M Rules based on average deviation and Q test
" sgnaf eflowsd wHmb Q Cersman eldaafan gL
(B) Rule based on only the Q test

Q -Gsrgenar wL_Erar eNHufer BiigLiLeufe

(C) Rule based on only the average deviation
gymefl eflewsd wi Bwrear aldulier gL uld

(D) Rule based on F test alone
F -Gengenan wi_@Gorar eldufen iqrinien_ufed

(E) Answer not known
elen Qg flweldene
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96.

An analyst analyzes a iron ore and obtained the following results:
x=10.72,5=0.07,n=10

The actual ¥ value furnished by NIST is 10.61% iron and for 95%
probability level corresponding to a degree of freedom ¢=2.262.

Are the result significantly different at 95% probability level?

em ugLurLareafar @mby &1g uGLUTLINO GBS SPsTED Sreyse
QupuiulLg:

x¥=10.72,S=0.07,n=10
285 @Qmby srgayse NIST -gé eprsiulL earewurer X wduy
10.61% CGugudb 95% -ar Hlawpsse; Hae Qg,rn_rrqml_u_l SiMefwed GQummtiyy
u@Lumieieryg £ =2.262 .
Cupuy  sreysefien @qma;aﬂm Ulg. @aslc.gg,aseq Hlene mﬁuqa;m SetlFons

Caumpu@Gdlerpeareur.
M t=4.97 (4.97 > 2.262, significantly different from NIST value)
t=4.97 (4.97 > 2.262, NIST greleiug sanfigwrs Coupu@éearmg))

(B) The ‘¢’ values are comparable (The result is not significantly
different from NIST value)

t-ar  wHuyser UL ssssewes  (NIST  grefleruy  seaflswrs
CaugiLiaflevenev)

(C) t=0.497 (0.497 < 2.262, significantly different from NIST value)
t=0.497 (0.497 < 2.262, NIST sreQenug safswrs Caupu@Hearng)

(D) t=-4.97 (—4.97 < 2.262, significantly different from NIST value)
t=-4.97 (—4.97 < 2.262, NIST grefenuy. saflsnors Caupu@Searng)

(E) Answer not known
Men Qgfwaeilcene
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97. Choose the right matches among the following.
& MU u@ueapde sflurer Qurmsshsmens Csita) Qewis :

1. Instrumental error
&madl YenLp

2. Random error
RpEsHD Werp

3.  Operative error
Qewoapen Yenyp

4.  Methodic error
Qaiipery Wenip

(A) 1 and 3 are correct
1 wpmid 3 &

(B) 1 and 4 are correct
1 wpmid 4 &f

(-C( 1 and 2 are correct
1 wppw 2 &f

(D) 2 and 4 are correct
2 wpmib 4 &

(E) Answer not known
elen Qgflwaldena

Determinstic error
sl GenLp
Indeterminate error
sarLdlwum Genp
Indeterminate

s duwr Genip

Indeterminate

sl Genwp

98. Calculate the significant figure for the number 650.004700
650.004700 eremp craimaniler 2 drar GHAUN 556 QOs550585 GasdHs.

(B) 06

A) 09
C) o4

(E) Answer not known
eden Qs fMweNdene
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99.

100.

101.

The significant figure(s) for the number 0.02670 is
0.02670 eranenflisamasssrar @OUGL$565 Lerall alleunmhiser

o 4 ®) 6
©) 5 - D) 3

(E) Answer not known
e Qgflwuaiidene

The normality of a solution is determined by three separate titrations,
The result being 0.2041, 0.2049 and 0.2043. Calculate the accuracy and
precision of the results if the true value is 0.2042

am smysdler swrar aoL Haowew 0.2041, 0.2049 wpgw 0.2043 9du -
et seflsal Qebley sramord sarfuiulLg. Cupsduehiler goalubd
wHMD S U WPLYe EmeT SaTssHs.

(A) 0.900 ppt, 1.26 ppt (B) 0.895 ppt, 1.200 ppt

@’ 0.979 ppt, 1.46 ppt (D) 0.927 ppt, 1.100 ppt

(E) Answer not known
er Qgflweildvene

Of the following species, which has the shortest bond length?
Wereumd @amsaile, argl Was Gnfu Gemeariy fasass Garar@dreng ?

@) NO 5 NO*

(C) NO* (D) NO~

(E) Answer not known
er Qs flwaeidwene
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102. Using Huckel rule determine the aromatic one from the following
an&se eldlliLg weamerer umasaw GCaibgams GNLIGLayb.

(A) Cycloheptadienyl radical
@&sCerm QapliLm e uwemeard 2 miiy

(B) Cyclopentadienyl cation
a&&Garm QuerLm e uiemane Cpirsiwefl

‘d Cyclopentadienyl anion

a&&Garm QueTrenLuienerdd erdiriwie

(D) Cycloheptatrienyl radical
@&&Gemm QamiiLm 1y eyuienared 2 miiLy

(E) Answer not known
. elen Gz Mweildene

103. The delocalization energy of Benzene molecule is
Quenafen ppasgnden 2 e st < Hm

1 1
(A) +-2—,3 B) S8

@ 125 D) -25

(E) Answer not known
cllenL QgMwaelerene

104. The total energy of hypothetical localised benzene molecule is
sHAs e erefliu’ L Quender ppadsnder Qwrés < HmeD

A) 8a+68 o 60+68
©) 6a+88 D) 8a+88

(E) Answer not known
edlen QsMweldrene
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105. Why does He; exist whereas He, does not?

ger Hey o ereng), He, @éema?

w0 The band order of He, is zero that of He; is 1/2
He, -cfler Qevemtiins semmd “0” =1.Gs Hey &@ “1/2”

(B) The band order of He, is 1/2 that of He; is 0
He, -an Qevamiiyé seibd, “1/2”215Gs Hey &@ “07

(C) The band order of He, is 1 that of He; is 0
He2 -air lenamTiiLé é;eme “1” 21.Cs H.egL &@ “0”

(D) "The band order 6f He, is 1/2 that of He; is 1
He, -an Qevaniiys sembd “1/2” 9105 Hey &@ “17

(E) Answer not known
e Qzflwaeidvensy

106. What are the magnitudes of total spin and total orbital for the ground
state term 4f of Vanadium? '
Qeuangwsder sorheow sro 4f sster QLIss &#wd LHNIL QLIss WTL OSSN
S| CTO&ET GTEITE ?

(A) §=—ChL Vi2n B) S= th V14 1

(C) .§=\/%hf,=«/1—3h ?{)§=%h L=12n

(E) Answer not known
eer Qgflweidrena
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107. An electron in 1s orbital of He", the average value of r, (r) is

He" - 1s erooéL_gmen TS0 @ TsLFTem @ memsude T, (r) a1 gymal

i
3

@ o ®) 3a,
3

& o ©) Sag

(E) Answer not known
clen Qs fwelcwene

108. The schrodinger equation for a hydrogen atom is

@anL_rRer gniedler avFGrmg kgt G S GLD.
[ 2 2

( B h2 Vz _ Ze =EV/
i 87°’m 471’807'
[ h2 2 Z€2

B - Ve - =

® -5 4”80];” v
| h2 2 Ze2

© |- Ve - =FK
| 87°m 47egr?l i
[ h2 2 Z62

D) |- Ve— =FE

( | 87%m 4reyr? v

(E) Answer not known
efen Qgflwaldena
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109. The frequency () of a linear harmonic oscillator is
Crflwer &Mens semeaailulien =18 iGleuer (%)

« }/=§1; Rim ®) y=472Rim

©) y=—VRim D) y=——JmIR
4r 2r

(E) Answer not known
e Qgflweiidvenen

110. A physical requirement on wave functions is that they should be
QupAu Cameusi@ AHDETTLGET eTenaralis @més Couam®is ?

(A) reliable (B) certifiable
BLOLIGLONG gnepeilésEs nigWsns

QCY normalizable (D) correctable
QUOUNTESS SnlqUSTS sMQAFLIWE SnlquISTS

(E) Answer not known
eer @sfMweiidenaw

111. A particle is located in a three dimensional cubic well of width ‘L’ width
with impenetrable walls. The sum of the energies of the third and the
fourth level is
om ssa gm wuuforer sar Harpld, saB@me Wuwrs seisesidar L’
SUEDEHD SMLBFETETS. DTG WHHID BretsTeug Heawseaman < aet e
gl (Hd Qzrensamw sanss[s.

(A)  1072h%/3mIL? (B) 117%h2/mL?
©) 15722 /mL? ) 107202 ImI?
(E) Answer not known
e Qg flwelcrene
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112. Calculate the energy levels E; to E; in eV for an electron in a
one-dimensional box of length 12A°
12A° Berperer @@ ufwreTtQuruld asLITEISsTaT HDO Hawsmer
E, wso Eg cueny eV Qo samsdleybd
(A) 0.15 n2eV (B) 1.26 n2eV
© 0.62n%V &7 0.26 n%ev

(E) Answer not known
een Asfweidene

113. The Schrodinger equation for a particle in a ring is
T @ gisd aumerugfar 2 arGar @mEEwEUNE HeLs@n evsCrmg kst sbaTLTE

G
2 2 2 2
o« S0 ® S5 tleo
2 272 2 2 2712
©) 81*;4_87[ I2E' m_s D) aI;'+87:2[ -0
1% h oy h

(E) Answer not known
elen QgflwaNdena
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114. For a particle in a one-dimensional box, what is the expression to find

115.

the energy of the particle if K = 7o
a

@@ uflorer’ Quiiuild 2 6TeT @M FISEHEES, k="~ TR 3ibSS ) %Heflem
a

SHpas sardeugpasrer Qeuaflium® erere?

2
@& E,= g -
8ma
272
h
C . En= a D Enz
©) P— D)
(E)- Answer not known

aen QAgflweildene

n’h?
2

8ma
n2h

8ma

2

When two functions y; and y,, correspond to the same energy. Then it is

said tq be

@ram@ smiyser  Yjwppd  Y,eCr pp@iLer @sgliGurenGuig, i

TeueuTn SimWssLUBHEDS ?
(A) Orthogonal to each other
ansQarary CsmCaraThisarmararael

C( Degenerate state
fowgps Hlow

(C) Normalization function
Queours@Ege Qgwdurp

(D) Non-Degenerate state
Havgwing Hlane

(E) Answer not known

alen Qg flwelcensn
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116. Find the eigen value for the function sin2x is acted upon by the operator
d2
dx?
2
Qusd —d—z, gy sin2x e g QewoupwCurg foLs@b FAger wHlmus
x

ST M.
(A) +8 B) -8

$r 4 (D) +4

- (E) Answer not known
e Qgflwelcrencw

117. Which of the following functions are acceptable as wave functions.
@) w=x (i) w=x2 (iii) y=sinx
SeumeuaTaudmIeT AWLSSSILLL M SML| TE6U ?

() w=x (i) w=x2 (iii) y=sinx

(A) () only (B) (11) only
(1) bLEW (11) w @b

(C) () and (i1) only (ﬂf (1i1) only
() wHmw (1) wCED ' (111) w_EHibd

(E) Answer not known
clenL Qgflweidency
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118. The energy level in three-dimensional cubic box having energy
8ma

Its degeneracy is equal to

. e 14K -
wpuufwren sarggy Quiiguier < Hme P GTERTDIE) AFET FOYHOD Hlenew
m
GTGITET ?
o 6 ®) 5
©€) 4 D) 3
(E) Answer not known
er Az flueiidvenew
119. The Schrodinger’s wave equation is
e Grmghusfer semeber FwerUm(
2 2
(A) A2y1+8’;l (E+P.EJy=0 T{EWS’; (E-P.E.Jy=0
87’m? " o 87°m
© Ayp+ Y (E-P.E.Jy=0 D) Ayv+ 3 (E+P.E.)y=0

(E) Answer not known
fenL Qgflwailcrene

120. Heisenberg uncertainty principle is expressed mathematically as
QanflarQuidlar guuiur’ (& Qsraransamu GHISESL FLaTUThH T8 ?

@A) (Ax)(APx)S£ ®) (Ax)APx)>2Z
«  (ax)(aPo)2 1 ©) (se)aPr)2

(E) Answer not known
e @Asflwefcrenaw
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121. Fast breeder reactor
Cous Feemeuied

(A) Uses fissionable material as moderators
Yerey Qummersaner L HubsHserts LweTuBHSSH DG

(B) Uses graphite rods as moderators
Syreoul G&flamer L HUBSHGeTTE LwETLHSSEDS

(C) Uses platinum rods as moderators
derriiger gerhiaamer L HUBSHseTs LTRSS

) Has no moderators
wLHubsdser @mriudoema

(E) Answer not known
clen GAsflwaedene

122. Which Isotope is used to identify Manganese in tea leaves?
Csuilewauie 2 erar wrksaiens s Hlu LwETULEL EALgsalvn g ?

(A) Mn57 (ﬁf Mn55
(C) Mnss (D) Mnb54

(E) Answer not known
elen Gz MwaeNdene
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123. Assertion [A] : Radiation exposure is low if only gamma rays are

emitted

sapm [A] : gmonr sdiger wLHL QealluucLmd s aiFs Qeuafiuiun@
GS®DEUNS @)(H&GHD

Reason [R]: There is a possibility of Isomeric transition or electron
capture

smyenrd [R] : 0CsrQufs LIHPDL Dwg sl rmen WGglILsSTaT Uil
2 _GTerng

(A) [A]is False, [R] is True

(B)

©)
«

(E)

[A] seumy [R] &

Both [A] and [R] are true but [R] is not the correct explanation
of [A]

[A] wpmp [R] @remdw &fl, eemmed [R], [A] epsrer sflurer elerssnd

@ e

[A] is true but [R] is false

[A] &fl [R] seum

Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] wompw [R] @reren efl womnd [R] , [A] ddpsrer sfwrer sflarésid

Answer not known
en Qg fweiidvenaw
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124. Choose the right matches among type
Spsam_apnde sfluraeupan CsibOsHss

(1) Radio carbon dating technique is used to — Estimate age of fossile
sflfluss ariuer saflly e — s eugeunsaiar euwg iHu
(2) Co 60 is used to — Study the reaction mechanism
Co 60 Wer Lwerur® - elear@urdlpen eibw
(3) Iodine 123 used to — Cure hyperthyrodism
2ACwmger 123 e LweTuTh — @apliuT @SITiLFS5mS &@TUILHSES
(4) U-2381s used to — Cure cancer
U-238 e wweun® — ydpmGCrmi Geronés
(A) 1 and 2 are correct
1 LD‘rj)Q_lLb‘ 2 sflwureng
M 1 and 3 are correct
1 womid 3 sRwrerg
(C) 2 and 4 are correct
2 opmid 4 sNwreng
(D) 2 and 3 are correct
2 wpmid 3 sNwrerg

(E) Answer not known
elen Az Mwaidenew

125. The type of nuclear reactor used in Kalpakkam is
soUTEsSD Sgmiblen Hlaowsdod LwaTuHSSUILHL g 2 @oulear ums

(A) Boiling water (Bf PHWR
Qardbir PHWR

(C) HWR (D) Graphite
HWR Ayreeamul

(E) Answer not known
clenL Qgflwelerena
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126.

127.

128.

The following one isotopic pair is an example of an isotopic pair used in
radiometric dating?

&G Qar@ssuul @erer  LCerGLmMis Gomgsefier gearm  CrgCur@uwlfé
Crigidléd vweru@SDg ?

(A) C-12 and C-13 % U.235 and U-238
C-12 wpgw C-13 U-235 wpm U-238
(C) K-39 and K-40 (D) H-1 and H-2
K-39 wpgw K-40 H-1 wpmpw H-2

(E) Answer not known
: Mer @sfMweiidvenaw

Radio carbon dating technique is used to estimate the age of

sdNwsss srosailiy aser auwms APl 2 5a Sng) ?

(A) Soil (B) Water
LD BT ST awtiv
€ Fossils (D) Buildings
L& S LiLg G MBIG 6T &L_Iq L_MI&GET

(E) Answer not known
en @z Mweildenaw

For 235U nuclide, the activation energy for fission is
235U - fly semagen Qereysarear Satiayl L pHmed

(A) 4.6 MeV (B) 5.5 MeV
@’ 5.3 MeV (D) 4.2 MeV

(E) Answer not known
elen Qsfwefcwena
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129. The Q-value of nuclear reaction is calculated from
Sign dlemanid Q-1 wHuy g Qurmss seTelLLILEDS

0{ Mass loss

(B)

©)

D)

(E)

Heom Gupriy

Energy change

<RHDED THOD

Mass loss and energy change
Hleop wrHOL WHHID %HPE WLIHHLD
Internal energy change

D& HDHMD THOHD

Answer not known
ellen Gz flwaidena

130. The difference between a nuclear reactor and an atomic bomb is
WG 2 DDEGLD AHEGITH&EGWD 2 6Ter aNFHwnssHen Lig

(K A controlled chain reaction in nuclear reactor

(B)

(©)

D)

(E)

Chemistry

AES® e @ouiler sLEUUESSUULL srdla QsTLi elemer BL&EWb

The chain reaction in nuclear reactor is not controlled
SIFGEHH e-@auile sLOUUBSSUIULTS srde Qs elemar BL&EWb

No chain reaction takes place in atomic bomb while it takes places
in nuclear reactor

SAGHTG D sEHd Aerii ollenanr BLESTH YT AESM 2 @auded
srdledl Qamireflenen pLd&@HWb

No chain reaction takes places in nuclear reactor while in the

atomic bomb there is in chain reaction
AWGS® 2-mowlld shdld Qsriielmear BLESTF PATD NGl
srdledl Qamiedlener BL d@L

Answer not known
e Qgfweléenc
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131. One of the following nuclear reaction is an example of a nuclear fusion

reaction
SpsaLacusaildr gem amissm Cariy ellear pELb.

A) ¢C?+ H' -, N*+y
@ H?+ H® >, He* +n'

(C) 7N14 +0 nl —)6 Clz +1 Hl
(D) 92U235 +0 nl —)56 Ba142 +36 Krgl + 30n1

(E) Answer not known
aflen Qg flweiidvenen
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132. Assertion [A]

Syl

Reasons [R] :

NeTEsLD

[A]

[R]

In the process of nuclear fission, the fragments emit
two or three neutrons as soon as they are formed
and subsequently emit particles.

gt Were] pLEGD Curg @ranh ORF  epeTm
Bl preng@pid 1eant emidah Gisea@Ehd Qeualliiu@ib.
As the fragments contain an excess of neutrons over
protons, emission of neutrons and particles bring
their neutron/proton ratio to stable values.

Qeueflliu@bd giseatsdar YCrmiLrenar L il Byl rrener

QupdmEEbh, AHs ereyerer Byl grener Qeuafudl @), n/p
g Hlevewirear wHliemu SieLwyb.

'ﬁ{ Both [A] and [R] are true; [R] is the correct explanation-of [A]
[A] vppd [R] @ranen &fl, CGogd [R] earug  [A] dpe sfumar

T&H&LD

(B) Both [A] and [R] are true; but [R] is not the correct explanation of

[A]

[A] wpmod [R] @ranew &fl, Goaw [R] eeaug [A] Obeg sfurer

&S

(C) [A] is true but [R] is false
[A] &Ml gyame [R] seum

(D) [A]is false, [R] is true
[A] seum), <pemmed [R] &

(E) Answer not known
e Ggsfuefdene
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133. Match the following terms with their corresponding definitions :

&G Qarp&ssuiul L Qsrdeoe euamyuampuyLer uThsss

(a) Nuclear fission
Slgms Yere]

(b) Nuclear fusion
Siamigm Cariy

(¢) Chain reacfion
grudled aﬁ]ez;)m

(d) Critical mass

Lbng@mmu Qum(peTento

@ ® @© @

A 1 2 4

2 1 4
© 2 1 3
M 3 2 4

(E) Answer not known
elen @z flwaeiidenaw

o W W

1.

The combining of two light nucleus to
form heavier nucleus

Qa@aurar saflwmger germ Csibg seromer
saflwb fepLiLg)

The splitting of a heavy nucleus into
smaller nucleus

sawoner  gaflow  GAssLuLH @o@eurer
Saflwb HeLiug

The minimum amount of fissile

. materials needed to chain reaction

sruflel lemareow Qgm_ireugnE Cseeuwimer
He@Gmpeurer erey ety QummeT

A self sustaining reaction in which the
product of one reaction cause
additional reaction

sanaflewpaydn eleweruienr ellener QuUmmET
QarLibg ctlenarenw BLSF6ug)
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134. Identify the correct form of Huckel determinant for an allyl system
R P owldlpster ansbsd samGsrencuuiear sflumear eugeusmss

ST HlweyLb.
1 x O 1 0
A [x 1 0=0 B) x 1 x/=0
1 x 1 0 x 1
x 1 O 0 1 «x
<« 1« 1-0 @) 1 = 1]=0
0 X x 1

(E) Answer not known
MeL GsNueldeme
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135. Assertion [A] : The density of nucleus is much higher than that of

ordinary matter

FahHm) [A] @  ogmeiar sLisd uEL@Qurmellear iLisHew el fsb

Reasons [R] : Most of the mass of the atom is concentrated in the
nucleus while the size of this nucleus is almost 10%
times smaller

smpaord  [R] @ oigmdlen gL igen sgmismeler @GelssUuL B 2 dTeng

«

(B)

©)
D)

(E)

Sigmedlan siatey Sigmsshae edll 10° wLkig Slwug
Both [A] and [R] are true [R] is the correct explanation of [A]
[A] womid [R] @ran@w sf Guaud [R] eréug [A] el sflurar elarésid

Both [A] and [R] are true, but [R] is not the correct explanation
of [A]
[A] womnd [R] @renew &f, Guwaud [R] eerug [A] oOpe sflurer

-NerésLlvena

[A] is true but [R] is false
[A] &Ml sy [R] seum

[A] is false [R] is true
[A] saumy <pammed [R] &fl

Answer not known
e Qgflweildame
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136. Assertion [A] : If high pressure is applied to a radioactive substance,
the rate of radioactivity does not change

FahHml [A] '  sffluss sallvsws <fls WsssHDG 2L uSsLCUNE
sfflusasden Geusd wIYTE

Reasons [R] : Radioactivity is a nuclear process
smamd  [R] 1 sdflwssd aetug @m ignssm elmar @b

M Both [A] and [R] are true; [R] is the correct explanation of [A]
[A] wpgw [R] @randw &f, Gugd [R] eewg [A] be sflwmer

&S
(B) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]
[A] wogw [R] @ram@n &f, Gogitb [R] GTETLIg) [A].aﬁlrj)@' sflwrer

& &LOlbEmen
(C) [A]is true but [R] is false
[A] &R e [R] seuny

(D) [A]is false [R] is true
[A] seum, <pemmed [R] &

(E) Answer not known
eflen Qsflweldene
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137. Assertion [A] : Nuclear forces are spin-dependent

138.

N0 [A] @  <siemsm s spnd sribss
Reasons [R] : Nuclear forces are charge independent
smpamd  [R] @ signsm dans Wensew grruhmg

(A) Both [A] and [R] are true; [R] is the correct explanation of [A]
[A] wpmid [R] @remdw &M Cuaubd [R] erarug [A]lelpe sflwrear eferss

W Both [A] and [R] are true; but [R] is not the correct explanation
of [A]
[A] wpgw [R] @renpw &M, Cuab [R] g [Aldlbe sflwurer

ar&sL0levaned
(C) [A]is true but [R] is false
[A] A g eme [R] seum

(D) [A]is false [R] is true
[A] saum, e [R] &

(E) Answer not known

Mer Asflweiidvena
Choose the correct answer to fill in the blank
235U +5 n —5g Ba+ + 2y n +energy
swarum_ e QeupHLseas Hyiiu sflurer uflee Csiey Aewweb
25U +p n =56 Ba+ + 2Ln +eyppéd
@) LK @ VK
(C) 37Rb (D) 37Rb

(E) Answer not known
e Gsflweiidena
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139. The value of Bohr magneton is
Gunir Cuser L rafler iy

(A)  9.2741 x 1024 Am-2 W 9.2741 x 1024 Am?
(C) 5.05095 x 10-27 Am? (D) 5.05095 x 10-27 Am-2

(E) Answer not known
allenL Qg flwelerena

140. The Nuclear Isomers contain
Sigmiefler wrHflwmiseid @mULame

(A) Same number of protons only
Gy ereflomer YCrmLmengamar L Hib GuhBmé@L

(B) Same number of Neutrons only
@Cr erefleomar Hlyyr grensamer L Hib QubhBHEESLw

'() Same number of proton and Neutrons
@Cr serelleorar YCrTLLrer whmib Myl jresmer QubHHmEEw

(D) Number of proton is half of the number of neutron
HGymLrenseflen iemey Byl grenasefien sieralfler LTdwns @) mé@wh

(E) Answer not known
alenL Qzfweferena
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141. The statement not related to the allylic cleavage in mass spectroscopy
Qumpameno Semawramauller Sdamaadds WaariilLear GgrLimndaons sapm

142.

(A)

(B)

©

«

(E)

Cleavage of C-C bond beta to double bond
Wereunarg) C-C Geamriiny, S Lmeflen = Qenemriiy

It is by the resonance stabilization of allyl cation
@g sivmad Camwraiear oifliey HlawlupHsgsamd G

Fragmentation mode is based on homolytic fission induced by a

radical site
gaLrar  wop giarLiul L Gapmwelys Garees  SgliL@LWLITES
QaremLg)

It involves formation of Tropylium ion
@8 wrmiewd Sweluder 2 (Haursasas e drer _sdwg)

Answer not known
MevL Qgflwaeiidvency

How many ESR lines are expected for oxovanadium (IV) complex?

< &Csreuangud  (IV) SmarelEE — asgoer  ESR Garpaer
adiumissiu@&ermer ?

A)
©)
(E)

4 qﬁfs
6 (D) 2

Answer not known
Mev Qs Mwaeidena
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143. How many transitions and signals are observed for d2 system with two
unpaired electrons in the absence of zero field splitting in EPR spectra?

g Yy Gerey @aowrs EPR w@mawvreolad d2 eiewae o der @rar@
QeeaTur TSLTTEISESE Thsmarn wIHHL WwHHD GSHUEE HarsEibd?

(A) 2and?2 2and 1

2 vHmw 2 2 vppw 1
(C) 1and1 (D) 1 and 2

1 wpmwd 1 1 wpmw 2

(E) Answer not known
cler Qgfwedene

144. In the mass spectra of CHz = O, which electron is most easily removed to
form a molecular ion?

CHz = O Gsiwgdan Qunmemanns Hyelweled apodampy owel o Harauspsns
g eresLrmen crefifléd BssliLBHDg 2

(A) melectronin >C =0 bond

>C =0 Qevawrcnled o arar T GTRSL_JmehT
(B) ocelectronin >C = O bond

>C = 0 Qevanrii9éd 2 drar & GTQ&L_[mehT
(C) o electronin C — H bond

C - H Qeewr196 2_érer ¢ eravsL_jmes
ﬂ Lone pair electron in O atom

O wigniefier 2 drar safl @evan eravéL fren

(E) Answer not known
eden QgMwefdene
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145.

146.

Which one of the following compound gives a peak at m/z 105 in the
mass spectrum

Sparemid eps Geimowrarg GQurmarew Hrdlwdld m/z 105 & wsoLs
GIGEES

(A) Anisole (B) Thiophenol
aflCaméd sCwimLSarmed

(C) Benzyl alcohol 4{) Benzoic acid
Quenensd Y OEADTED Quengmuis Sl

(E) Answer not known
e Qsflweiidenaw

High resolution PMR spectra of CH;CCl,CH; shows
CH,CCl,CH; & Wamsu9fisger PMR eioawroaw o sesden aamaflsms

(A) 1 peak (B) 2 peaks
1 s 2 wsh
(C) 3 peaks MNO splitting
3 wpah : Qerey @venew
(E) Answer not known
er Qg fwaiicrene
81 Chemistry
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147. Why we use Tetramethyl Silane as a reference compound in NMR
spectrum.
NMR - #fporeed Quigm@usdedr AComar @Huy seo@eauwns ger
vweTuRSSHCHmD ?
(1) It has 12 equivalent protons
Qg 12 sowrer YGyTLLrensmend Qameampereng
(1) It is Chemically active
Qs Caudlulilwer FHurs Qewalle o drerg
(111) It has 4 equivalent protons
8s 4 swwrear YCrTLLresemers Qaream(BHererg
(iv) It has low boiling point
Qs eoppHs ardflaomus Qarar@drearg

(A) (i) only ' B) (i) and (ii) only
(11) v Ew (1) womb (1) wLEb
'6 (1) and (iv) only (D) (11) and (iv) only
() wHmb (V) WL (11) wHmb (1V) L EWL

(E) Answer not known
cllenL Qgflweleene

148. Among the following molecules, which one has the highest chemical
shift(s) value?
ereumd epsammsaiien, arg sifs Caud paiameus Qaram@arerg ?

“§ CH,F (B) CH,I
(©) CH,Br (D) CH,H

(E) Answer not known
eflen Qgflweldene
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149.

150.

151.

How many signals will be obtained in the NMR spectra of 2-methyl
Propene?

2-Qusdé yQrmiuSafler NMR siemawraaoulso assamear sflsmssdr Qupuu@b
of 2 ®) 3
© 4 D) 1

(E) Answer not known
e Qg fluaiicveney

What is the type of transition responsible for the colors of transition

metal complexes?
Qoo 2 Gors Csiwmaaild ghuL GT@MSEESSE THg s GeoLblama
GNIGRTLONG 2_GTETg) ?

@) dp o d-d
(C) d-f (D) s-p

(E) Answer not known
Men Qsfweiidvenew

Which is the correct increasing order of energies of the triplet states of

molecular Hydrogen?
easampy manl rmafler gpaufl Hawulear sifsflsgn dpow aflesiu@ssis.

m 32; >3ﬂ.u > 32': ' (B) 32: >37[u > 322
© Bz,>% >°%; D) ’z’ >°%" >3,

(E) Answer not known
len QgRlweiidvena
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152. Match the appropriate answer for the following
Wereupeuareupdparer Qurmssorar udaers QurrsseyLb.

(1) Hyperchromic Shift
eanui@GCrmilé wmhmLd

(2) Hypsochromic Shift
amaniGer&CGymis wmhHmid

(3) Bathochromic Shift
unsGasrsCrmis wrHmLd

(4) Hypochromic Shift
aanliGur GCrmils wrhHmb

@ ® © @
a1 2 4
B 2 1 3
27 3 2 1
M 4 2 1

(E) Answer not known .
eflenL Qsfwaldene

W B A W

Chemistry

(@)

(b)

©

(d

84

a shift of 4, to longer wave length

Amax Beim si@afasine wipsed
a shift of 4., to shorter wave

length

Anax GEODHS A@@FaEADE WIOSD
an increase in the intensity of an
absorption band with reference to
its molar extinction co-efficient
SLrsHuner 2 I seuiFHuul enufer
2ifsfluy, siger Cpreri Gsmuiupey |
GassSlen QaTLiiurs @) (me@Lh

a decrease in the intensity of an
absorption band with reference to its
molar extinctionco-efficient.
SILigdwurer 2.1 seuirEfuiu_en_ulen
&®Day, Agen Coreri QsrLiiupey
GasgSlen QT_fUNs @) (Hé@SLWD



153. Selection rule for pure rotational spectra is
s &Hé Hipwreaessrar Csrey 6l
@A) AJ=0 & a1 =11
©C) AJ=+1 (D) AJ=0,%£1

(E) Answer not known
Men @z flweildvenaw

154. Which of the following causes the vibration of atoms?
(1 The number of protons in a nucleus
(i) Electron movement to higher energy levels
(iii) Dipole moments between atoms
SeumeuaTeubmIET 6Tg) c9|@1|e;;easvarﬂc;zfr L OVEAC) STyTOTADS ?
1) ersmeild eerar Gy raflen aamafsms
(i) eresLgren 2 wit QY Honed HlenesE wrmb Gurg
(iil) igméseier @eL Cu 2 étar QEHparans muLSSHmer

(A) (1) only (B) (i1) only
(1) wL_ @b (11) L b
6 (111) only (D) (@i1) and (iii) only
(111) LW (i1) womb (111) wLHb
(E) Answer not known
Mev Az Mwaeiidenaw

155. How many lines will the ESR spectrum of the naphthalene negative ion
C,oHg have?

ESR simawvrealed prisddar afiwean swell CoHg agsmear aifisman

Qarhi&Ew ?
@) 24 oS 25
C) 26 (D) 27

(E) Answer not known
Men GsMwelcrene
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156. How the moment of Inertia is given in rotational spectra for BCl5?
snHél seewreoudeo BCly -6 2 ppey Hmuiyemw ereiumy @ més@ 2
(A) IA =IB=IC (B) IA =2IB =IC
6 IA =2IB =2IC (D) IA =IB =2IC

(E) Answer not known
een Qs Mweleene

157. Choose the correct pair of molecule with the corresponding vibrational
degrees of freedom
tposamdlear oiflife) sl o Afsh Qerar,. sflwrer Cgmgemws

Cairb@s[H &sHeyb
9/002:4 (B) NH,:7
(C) H,0:4 (D) C,H,:3

(E) Answer not known
elen Az fwelcdrene

158. What is the formula to calculate J ., for a rigid diatomic molecule?

@@ dslgurer rragy wposmp Qsrar wpossdear J.. sersd@eusparer
aumiumrh erese ?

1

KT V¥ 1 KT Y2 1

A J = - B) J = -
@) Jmax (2th 2 ®) Jmax (zth) "3

1

KT Y2 1 KT \? 1

J oo=l—]" -z D)J . = =
( max (thB 2 D) Tmax (thB) 3

(E) Answer not known
eflen. Qgflwadene
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159. Which of the following statement is correct about the intensity of
Spectral lines in rotational spectra?

. - [KT
® 9= e o

(i1) Intensity will be maximum at or near the J value

(iii) Line Intensities are directly proportional to the population of the
rotational levels

spHé @owramouds dmawra afllear Gsey upd Speimd sphld g

&2

. . [RT 4
O I (g Yo

(i) J wduyss <@Cs Asdley AuBLL UDHBSESD
(111) ol QeMey spH& erelld 2 ater AFTEDHEES Gg,naﬁlaﬁlg,m <G

(A) (@) only (B) (1) and (111) only

(1) wL@Ew (1) wHmd (111) WL HW!
’(C{ (1), (i1), (ii1) are correct (D) (1) and (i1) only

(1), (1), (i11) &M (1) wombd (i1) w G

(E) Answer not known
en Qgflwaeilcrene
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160. Match the following using the code given below
Qarhésiul_Herer GHluihamer LweaTLhRSS Speumeuareupern QuHSSIs.

(a) Antipsychotics
warGHM Tl WHHS!
(b) Antianxiety
seuame GTHITLIL W(HbG
(c) Hallucinogens
IuECHTHODEPL I
(d) Antiinflammatory
2ApHE erhing

. @ .
« 2 4 1
® 1 2 3
© 4 1 2
M2 1 4

(E) Answer not known
elen Qs fwaeldenew

W W b W

Chemistry

b)) (© @

LSD

GT6L. 6T, Ig-
Reserpine
flerienuesn
Aspirin
<pevLifler
Meprobamate
QuuiCyrurGui_
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161. Match the following using the code given below:
Qar@&suul@érer @Auibhsmerts LwaTuBSS Speumaiareupann QUMHSSIS.

(a) Phenobarbitone (1) Synthetic analgesic
QCamumm A GLmebr Qewpens cuedlHleumyent]

(b) Pethidine (2) anaesthetic
co@uIFSlIg.661 LWES WHHS

(¢) Thiopental sodium (3) Antibiotic
HCurQuerLmed Camigwib DL ETIq LIWITIG &

(d) Chloramphenicol (4) Anticonvulsant
&CemmCrmbsQueaflamed cualltiy erliriiy WwmHBS!

@ ® @© (@
a1 2 3
B 2 4 1
© 4 2 1

4 1 2

(E) Answer not known
en Qs fwaeidvenew

W W W s

162. LSD is an
LSD eaug e

(A) Aldehyde derivative (B) Urea derivative
< dgash Qumd wilwr Qupd

7 Indole alkaloid (D) Antibiotic
@eGLTe 2 dsmii( ardlir 2 uqf

(E) Answer not known
Men Qs fweildene
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163. In the following reactions
Gemeu(mid ellenansatied
() a- terpineol —H25% A
A
o— QuirSeflwme —£2—'-SO4—) A
A
(i) a- terpineol —1%alkaline . o
KMnO.
1% &my
o—- QuiSefllurey ——— B
» KMnO,4

. The products A and B respectively are
eflener@Qunprser A wHmbd B wpeapGu

(A) Coumaric acid and saturated dihydroxy compound
&wis bl wHHbL Hleapaybhy @Lmant_Frée Csaroib
(B) Coumarinic acid and saturated dihydroxy compound
Gwilafls sl wHnw Hepeybdn eLmant Frsed Geiwib
‘Q{ P — cymene and saturated trihydroxy compound
P — avaiSern wpmid Hlenpeydm yevyenant_jrées Ceirotd
(D) P - cymene and dihydroxy compound with one C = C bond
P — esBenr wpmd @@ C = C Gevarriiy QaranL e_avanl gréed Gerotd

(E) Answer not known
aler QsNweNédenew
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164.

165.

166.

Among the following which is correct about atropine?
SpsaLancus@hem iU Crmler updlu slurer sapm eg?

(A) Cy7 Hyg NOg, optically active

C;7 Hyg NOg, gefl sppmid wiamenwig
(B) C;; Hyy NO,, sweet in taste

Ci7 Hyy NO,, @afliiy semeunyenwig
‘C{ Cy7 Hy3 NOg, optically inactive

Cy7 Hyg NO3, gafl sippmid usmuppg)
(D) C,; Hyy NO,, sharp bitter taste

Cy7 Hoy NO,, Asayd seuiuneng

(E) Answer not known
een Qs fMweildenew

How many isoprene units present in Cadinene?
Gayatear Qupmerer mCemiifer v @Gsallan eramaflsms wrg ?

@A) 4 @
©) 5 (D) 2

(E) Answer not known
enL Qgflweiidene

The common molecular formula of natural terpenoids are
Qupes QuitGamipsailer Qurgeurer gpes&snn eumitLTk erere ?

o (C.H,) B) (CsHy),
(©) (CeHy), (D) (C;Hs),

(E) Answer not known
Men Gz flweildere
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167. The number of methoxy groups in quinine is
@Wlafern el 2 drer Bss168 Qgn@dsaien aaraisms

A 3 B) 2

@ 1 (D) 0

(E) Answer not known
alen Agfwaldene

168. Diacylated morphine is called
@rier SflaLCopn wrinQelear QuuiT

(A) Ecgonine (B) Eucaine

: er&Camefles : @ CunsQs e
M Heroin (D) Codeine
Qamyruler Q& mg uwier

(E) Answer not known
alen QgNweildene
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169. Predict B, C and D in the reaction
Citral alkaline KMnO, N @ CrOg sB+C+D
@eaceandd B, C wpmnd D -gs sar
SL_gméd 51y KMnO, >@&> B+C+D

(A) Acetone, Oxalic acid and Pyruvic acid
8 CLrerr, ysevrells sl wHmib eumels il

(B) Acetaldehyde, Acetone and Laevulic acid
8 Lroyeman®, A CLrer whmib GOwapdls <blen

(C)  Acetaldehyde, Oxalic acid and Laevulic acid
éleﬂl_l_rra)qmgr)(g S EaTeNlS DSl WHmID @Gla)gq,c&a; Sidleod

M Acetone, Oxahc acid and Laevullc acid
8 CLrérr, gy savredlds bl wHmb QEaaLels idlen

(E) Answer not known
elen Qgflweildene

170. The product obtained on heating menthol with KHSO, is
KHSO, 2 Lér Qupsreae @GLréGauger epabd Qupriut L gumiliy

‘(( Menthene (B) Menthone
QupSen QupCsmen

(C) Menthane (D) Methane
QupGger B5Cgem

(E) Answer not known
er Gz flwaeiidenew
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171. Pick out the incorrect statement
SUDNTET FHED ST Hlwe|b.

(A) Alkaloids are bases

SADEOTU(HSET SMPRISETT (LD

-@{ Monoterpenes contains one isoprene unit
CurGeam@Liner e pCerufar siwams Qsrar@dreng)

(C) Sesquiterpenes contains three isoprene units
Qeavdl@LinQen epenm pCeriifer iweams QsrarBerarg

(D) o- terpineol is monocyclic monoterpenoid
0 — QuinQeflume aratugl @hep euemerw GurGamm@mdarmibh <@

(E) Answer-not known
aflen Qzfwedena

172. The valency of Cobalt metal present in Vitamin By, is

@aLifler Bjy @ o drar CGarurar e Cansgder @amandpen

(ﬁf +3 (B) +2
C) +4 : (D) +6

(E) Answer not known
clen Qgflweferene
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173.

Match the following :

Wereu(meuareupenmLs Qummsgis :

(a) Vitamin D
eneuL_L LBl 1.

(b) Vitamin A
meul_L e 6

(¢) Vitamin E
eeul_L L6 T

(d) Vitamin B,

- e Lflar By

@ b @
A) 2 1 4
4 1 2

© 4 2 1
D 4 3 2

(E) Answer not known
e Qgflwelcrene

(1)
)

3)
(4)

(d)

=W W W

trans retinol
g gretey QL iq&Tmed

o.— Tocopherol

o — CLrsGasrQuiyme

Riboflavin
MNCunSLIGarellesr

Calciferol

B (VA A TRT) {1 1))

95
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174. Match the following :

Wereupeuareupenm Qummsgis :

(a) Pepsin (1)
Quuidler

(b) Insulin 2)
@) cige0ei

(¢) Cytochromes (3)
g CLm@&Crmbger

(d) Haemoglobin 4)
afComr@Germ e

@ G © (@
A 3 4 2 1
@ 2 3 4 1
© 4 3 2 1
D) 4 1 2 3
(E) Answer not known
clen Qsflweldeme

Chemistry

transports O, from lungs to tissues

O, -@wau parlrdldmps HesseEnss CQsraT@
Qeevdlpg

helps digestion

Qsfloraisdbe e-sadps

regulates glucose metabolism

& EB&CaHmev cueTiflens LIHDSMS
ICLIGHIO R .
electron carriers

FosLgren QFesHlaer
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175.

176.

The incorrect statement related to denaturation of protein is
yGrmieafler @uadply Qsrruner seupmer sabmi

(1( alters primary structures
(PSETEOLD SEMDLILIGEMET THMISDG)

(B) loss of biological activity
2 WRlwe QewdurieL @usdng

(C) destroys the characteristic shape
safisgiel agasms 2fsdng)
(D) changes the solubility
: s@jdHpemer LIHYISMS

(E) Answer not known
en Gz flweidwene

Fluorescein is prepared from
yepréer @ameusaialmhg swrilssuub &g

O{ 2 molecules of resorcinol and 1 molecule of phthalic anhydride
2 wssmpser QrGsmidlamd LHPID 1 Apo&say sTdls suble Hile
(B) 2 molecules of phenol and 1 molecule of phthalic anhydride
2 pe&snsH Harmed wHYID 1 epadsan sradls e Bl
(C) 2 molecules of resorcinol and 1 molecule of acetic anhydride
2 apssmmser QrGsmiflamd wHmb 1 apossan A ys Sble Bl
(D) 2 molecules of N, N-dimethylaniline and 1 molecule of resorcinol
2 wassmmpsdt N, N-aL QusHosafeder wpmibd 1 apossmp QrGsridlanmd

(E) Answer not known
cenL Qgflwelerenc
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177. Match the following dyes with suitable examples.
Yemeu(md sTUIkISMET SGbS THSSSHT_HEHEHL6T QUTHSSeLD

(a) Nitro and Nitroso dyes (1) Methyl orange
apl Com, eopl ConGer srwiiser Qs <7Ehe

(b) Azo dyes (2) Malachite green
Cem gmuiseT TGS LEms

(c) Triaryl methane dyes (3) Mordant green 4
Lenrsienyed 55Csem smumbiser CumirLen ugens 4

(d) Anthraquinone dyes (4) Alizarin
Y pSITEGUICaTTen Fmwukiger Sl fer

@ M @© @ .
53 1 2
B 2 1 3
< 2 4 1
(D) 3 4 1
(E) Answer not known
cder Qs flwaeNdenew

DN W s W
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178. Predict the final product :

CH,),SO
D—glucofuranose —s0H/HCL (CHs)pS0, | HCL o

0°C NaOH

@nd earQummenars s :
CHgOH/HCL . (CH3),S0, =~ HCl o

D—@ep8Camay,sCarmen P > Nood >

A) 1,2, 3,6—tetra— O — methyl — D — glucose
1,2,3,6—-Q_rgr— O — Qugfléd — D — @@ensCamen

B) 1,2, 4,6—tetra— O — methyl —D — glucose
1,2,4,6 - Quigr— O — Qugde — D — @ensCamav

©) 2,3, 4,6—tetra— O — methyl — D — glucose
2,3,4,6—Qugr— O — Qusde» — D — g @psGamaev

6 2, 3, 5, 6 —tetra — O — methyl — D — glucose

2,3,5,6—QLgr— O — Qusde — D — G@psGamaev

(E) Answer not known
er Qs fweildenew
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179. Choose the wrong statement from the following.
seuprer eflevLevw CaibOsHSSH 6T (HSIs.

(1)

(i1)

(iii)

(iv)

A)

(©)

(E)

Chemistry

Glycosides are acid labile and stable in alkaline medium
HemersGarens H\ger sl HlevawhnsrseyLb, MISEH D
Hlerowrengrseybd @) @&w0

Glycosides are labile in base and stable in acid medium
SaarsCarensH&er a&MysSled Hlerawphnsrseyb, Sl
Hlenwnensrseyh @) (@D

Glycosides are labile both acidic and basic medium
foasCarans@aer Sl wHmb smsHd Howwudnsns @) meESn
Glycosides are stable both in acidic and basic medium
SaasGanasae llon wHmw sMsHd Howurasns @) mé@Lw

(i11) only ) (B) (iv)'and (1) only

(111) wr_@w (1v) wHmib (1) LWL
(1) only '{5 (11) and (ii1) only

(1) wr_ @b (11) whHmb (1i1) v Eb

Answer not known
den Az flweildene
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180. The commercial and natural free fructose is most probably
aafls fH@ab wHmb Qubmswurer weapuigib HaLssssmgw ArsEGLmen
QupLUTYILD THTEH @) (HESHMLD ?
(A) B —isomer with a furanose ring
GyyGrrev euevarwid Qera @ B - gCsmwi
(B) o —isomer with a pyranose ring
@urCprey cuamemwib Qarem @@ O - RCsmof
(C{ B —isomer with a pyranose ring
@urGrrey eueerwid QareL @@ B - oGsmor

(D) o—isomer with a furanose ring
GuyrCrmev cuenemwid Qamedr e O - RGsmof

(E) Answer not known
en Qgflweiidene

181. The application of pest control chemical in liquid form is usually done by
uEfE sLEUUTLEH @remuarses dre ayeld LwaLHSS 2Ha b euREELTET

(G

9{ Spray method (B) Dust method
Qgefliumer e &g (pevm

(C) Aerosal method (D) Sterilize method
cuaflo semgad Wem HmOluPsse e

(E) Answer not known
een Qsflweidwena
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182. The first organic pesticide to be used commercially was
auanfls fHuns vweaTLESSLILLL WD &ML YFersQamToe

(A) Benzene hexa chloride #B( DDT
Quenfern Qanser &Cerrany(hH lg-lg-Llg-

(C) Car baryl D) 2,4-D
smrGumreniyed 2,4-1g

(E) Answer not known
cdlen Qs flweldene

183. Bordeaux mixture is a solution made up of
CurrLrsey Sy SMIFd TaTLg)

(A) Magnesium sulphate, quicklime and water
Qusatflub soGuL, &L samearmby wHmbd i

(4 Copper sulphate, quicklime and water
smuuf sGUL, &L samarmby wHmbd Bif

(C) Mercury chloride, calcium carbonate and Alcohol
Quigf GGeatrars®, srddlub sriuGar wHmID <posaDTD

(D) Potassium sulphate, calcium carbonate and water
QuriLredluib sCul, sroflub sriuGar wHmb Si

(E) Answer not known
cen Qzflweldeme

184. Which is commonly known as Folidol?
SGumellme ererm Qunrgieuns ML eug 652

(A) Heptachlor (B) Endrin
Qanuir@Garmir creorL_feor

7 Ethyl parathion (D) DDT
argdler urmrgsCuimres g lq L lg

(E) Answer not known
cflen Qgflweldene
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185. Match the following

Spsarcupern QUImSSIs.
List I
Ul gwe I

(a) Lindane
&Sl GL_ebr

(b) Malathion
OGS ENS LI TGHT

(c) Carbaryl
smiuflé

(d) Chloro phenothone

&GerGrm SQuanGgmen

@ ® ©© @

A 1 2 4
B) 4 3 2
©C) 4 1 3

&« 4+ 3 1

(E) Answer not known
clenL Qgflwuaicrens

NN = W

List II

utgwe 11

(1) Carbomate
smiruCGuL.

(2) DDT
DDT

(3) Organo phosphate
&Ml urevGui

(4) y-BHC

" y-BHC

186. The organ which is most affected by mercury poisoning
uTSTe péadsaewwnd Afsamelled LTEEsILL &g 2 HiliLy

(A) Lungs
meguiyed
(C) Kidney
AmBrsd

(E) Answer not known
clenL QgMlwaeilcreney

Central Nervous System
LSS BIDL LOETL LD

(D) Heart
OIGETE
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187. Pesticide which related with the ability of Oxygen transport around their

bodies of birds is
upeeusafien o L efler ysefleen Baiamen LMT&@EL LFH&EQsmeal
(A) Dichloro diphenyl trichloro ethane

L GGammGrr enL19enaned 1qengECermCrm réCaen
(B) Ethylene Dibromide

argdaberr e Cymenwo®

(C) 1,2 - Dibromo-3-Chloropropane
1,2-eLyCrrCuor-3-@CarmCymyCrmuGuen

Hexachlorobenzene
Qansen@CemmGrrQuenden

(E) Answer not known -
aflen Qgfweldena

188. Which one of the following is not insecticides?
Werreumeuareupied ergy YFH&EQasmoed e ?

(A) 2,3 dichloro-5,6 -dicyano-1,4-benzo quinone
2-3, @L&CemGyn- 5,6-answCanr- 1,4-QuenGen &uiGarmen

(B) Aldrin
<}, e0ig.Mebr

(C) Tetra ethyl pyrophosphate
QLigr ersféd euCrrumevGui_(

'({) Bordeux mixture

GuirLmev seveneu

(E) Answer not known
elen Qsfweldrene
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189. The common arsenic compound that is absorbed through the lungs and

Intestines 1s

Beyuire LHNIL GLod afluns 2 HErsu@b Qurgeurear gy fsalls swmeu

A AH;
(©) H3A0,

(E) Answer not known
cen Gz flwcildenew

(B) As042_

6 As;03

190. Match correctly the chemicals with their corresponding characteristics.
CaudLQurpLsemer SeupMen Qsmiiyew uaTysEhLer sflurs Qummsseb.

List I
utique I
(a) Organo phosphorous
&Ml umevUF6L
(b) Methanol
Quggermed
(¢) Mercury
(W] f:3y )

(d) Amphetamine
YT AL [T =

@ o @© @
w3 4 1 2
B 4 3 2 1
© 2 4 1 3
1 2 4 3

(E) Answer not known
en @Az flwaeildenew

List II
utgqwe II
(1) Toxic heavy metal

sar 2 Cong p&s

(2) Non-volatile poison
<WUNSTS HEhs

(3) Military poison
Guramel pEns

(4) Volatile poison
gLelwum@d HEhs
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191. Xenobiotics are
Swuifl ereLigy

(A) A form of nutrients
oerl’ L F5gI5aH6Tem (b 6ulgeuLd
-({ Anything that is not nutrient and enters the body through

different routes

oer’ L 558 Adeng GeucuCoum cuflseaficr 2 L alléd meanpwyd Qummer
(C) Nutrients which kill the gut microbes

G margnuifigmer Qardaib oo L g&g&ae6
(D) Another form of antibiotics

Blamanuir erdlmlgefen wHQDTE eugeud

(E) Answer not known
eflen Qg flwaidena

192. The most abundant oxides of carbon in the atmosphere and a pollutant

1s
aaflwar wsdd Fawns Qmesnd wHHb WIELRSSD QuTmar

@) Co co,
(C©) CONNH,), (D) Ni(CO);

(E) Answer not known
cllen QAgfwaelérena
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193.

194.

In toxicological studies the compound used to estimate how readily
organic toxicants transferred from water to lipids is

pEewed yuieyseld, sflw péan Qurmlser Blladimbg UKD EREE aeueiere,
arafifled wrHPLLGSaTpar erauams WHINNGusHEGL LLaTURSSILGHWL Gaiob

(A) n-butanol (B) n-pentanol
n-Liyyl L emmed n-QueéLermed

(C) n-hexanol (‘ﬂrn-octanol
n-Qansserme N- Q&L ATTD

(E) Answer not known
er Qgfwaeiicvens

Toxic cyanide ion can be isolated in a device called
pé& suear®h swalleow WN560506s 2 sa|b sTEET (WPOD 6TH ?
(A) Fresenius and babo method
Sufaflwev wHmb urGur e
Conway micro diffusion method
sanGeu HIGTUTGUD (P
(C) Micellar extraction method
ewagoori MNs0shss0 Wpap
(D) Modified stas-otto method

rHHluewssiul L eoLrev-@l GLr wep

(E) Answer not known
en QgMwaicrend
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195. In methanol poisoning, there is a fatal effect which is due to the

formation of
gl 2 (HeuTausET el Qussarmd BEHeld Sumusyorer elamare) gHUBS DS ?

(A) Acetaldehyde and acetone
S Lmégeman(® wHmid & CLrer
(B) Pyridine and pyrrole
Uiy er womib epuGymed
Formaldehyde and formic acid
SUMTTLOMEIG @D ([ HMID SUMTLE Djiled
(D) Acetic acid and acetone
S 156 Sl wHnId S CLmen

(E) Answer not known
clenL Qgflweildveney

196. Nerve gases are

BIOY UMYESEET GTETLIG

(A) Orgaho metallic compounds
&Ml 2 Cars Gaiwwd

(B) Organo sulphur compounds
afw &pss Carob
Organo phosphorous compounds
g&Mw umevuy CamwLld

(D) Organo Fluorine compounds
sflw yGermfenr Gairow

(E) Answer not known
cdlen Gz flwaildena
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197.

198.

Toxicology is a
B&SUAWE eTeTLIg)

(A) Science of motions (B) Science of planets
Quissnisaiier oidleNwed Srsnisafler odlefuwicd

(4 Science of poisons (D) Science of paracites
lagd upMw sidledwied L (hamenilsaien oiMelilwe

(E) Answer not known
aflen Qgflweldena

Which of the following statement/s is/are true about Toxicological
analysis?
pEEAwe Lglumie upd Geteumbd smbpisaie) g 2 e ?
(1 Qualitative analysis plays a vital role
uauf uGLUTDe WPSHAW U@ eudlsdng
(i1) Other than alcohol, quantitative analysis is not required
< dsantd gelly, sereudll u@lumie Gaameauulaame
(i) Qualitative and quantitative analysis are required
ueTud wHHID et LGUUTeyseT Csanau
(4) (@ Only
(1) wr@Ew
(B) (@) and (iii) only
(1) womw (111) L Hb
¥ ) and Gi) only
@) wHomd (11) wLEb
(D) (1) and (ii1) only
(1) wHmbd (1) wEb
(E) Answer not known
e Qzfwelcrenc
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199. The term matrix in analytical toxicology is related to
uGuuUTle] pégFelweler Culfgeav eremp QgTLiyerLw Qg

(A) Purification (B) Stripping
sSHafluy [T
Extraction (D) Filteration
LEAEIQEYT) QUIg &S (HF60

(E) Answer not known
eflen Qg fweildana

200. Dry ash method is used for the extraction of the which poison from the

following? i . i .
Gereumeuaraupiléd @Qmbg s Naysms WNs5QsHEs 2 ef sTHUD e
vwetu@SSLILBHE DG ?
(A) Volatile poison (B) Non-volatile poison

Y eNlwum@d HEhs 2NUTETS BEhHsr

Metallic poison (D) Vegetable poison

2 Goong BHEhs sTUSH HEha

(E) Answer not known
een Qsflweldene
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